UGC NET 2022 HISTORY SH2

Topic:- 06_SH1_PART_A_SET2
1)  'Neminath’, the 22" Tirthankara, was associated with :

1. Balrama
2,Rama
3, Krishna
4 Vishnu
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[Question ID = 10119][Question Description = 101_6_HIS_0OCT22_S2_Q01]
1. 1 [Option ID = 10473]
2. 2 [Option ID = 10474]
3. 3 [Option ID = 10475]
4. 4 [Option ID = 10476]

2)  Which one of the follewing Sanskiit dramas gives details of Chandragugta Maurya?

1. Mrichchha katikam
2, Mudra rakshasam
3, Uttararamcharitam
4 Malatimadhava
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[Question ID = 10120][Question Description = 102_6_HIS_0CT22_S2_Q02]
1. 1 [Option ID = 10477]
2. 2 [Option ID = 10478]
3. 3 [Option ID = 10479]
4. 4[Option ID = 10480]

3) Which Indian king expanded the Hindu empire in Swarnadweep?

1. Rajendra-|

2. Rajaraja

3. Dantidurga
4, Mayursarman



Fafeiad # o foerg HRedig Te - Wuigy H g aied @ [awR e 41 7
1, Aot
2, TR
3. gagl
4, TR

[Question ID = 10121][Question Description = 103_6_HIS_0CT22_S2_Q03]

1. 1 [Option ID = 10481]
2. 2 [Option ID = 10482]
3. 3 [Option ID = 10483]
4. 4 [Option ID = 10484]

4) In Mathura art, the sculpture whichy includes kinship triads depicts whom 7

1. Shiva, Parvati and Ganesha

2. Vasudeva Krishna, Baldeva and Ekanamsha
3. Vishnu, Lakshmi and Garuda

4 Brahma, Vishnu, Mahesha
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[Question ID = 10122][Question Description = 104_6_HIS_OCT22_S2_Q04]

1. 1 [Option ID = 10485]
2. 2 [Option ID = 10486]
3. 3 [Option ID = 10487]
4. 4 [Option ID = 10488]

5) The play 'Devichandragupta’ by Vishakhadatta was found in a manuscript of Bhoja's,
Shringara - Prakasha and some part of this play was found in a8 manuscript of which

writer?

1. Bilhan's Vlikramankadevcharitam
2, Amar Singh's Amarkosha

3, Gunachandra's Natyadarpana

4, Kalidas's Abhigyanashakuntalam
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[Question ID = 10123][Question Description = 105_6_HIS_0CT22_S2_Q05]
1. 1 [Option ID = 10489]
2. 2 [Option ID = 10490]
3. 3 [Option ID = 10491]
4. 4 [Option ID = 10492]



6) Hastyayurveda which deals with the diagnosis and treatment of the major diseases

of elephants was written by

.Vagbhata
. Kashyapa
. Palakapya

du LD —

. Sushruta
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[Question ID = 10124][Question Description = 106_6_HIS_OCT22_S2_Q06]
1. 1 [Option ID = 10493]
2. 2 [Option ID = 10494]
3. 3 [Option ID = 10495]
4. 4 [Option ID = 10496]

7) Who suggested that the prominence of female imagery, especially the female
attendants whio frequently flank the Bodhisattava, may reflect Tantric or Vajrayana
influence?

1. Hutingtan
2. Hiphinston
3. Marshal

4, Piggot
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[Question ID = 10125][Question Description = 107_6_HIS_OCT22_S2_Q07]
1. 1 [Option ID = 10497]
2. 2 [Option ID = 10498]
3. 3 [Option ID = 10499]
4. 4 [Option ID = 10500]

8) In which of the sites the overlap between Late Harappan and Ochire Coloured
Pottery phase can be traced?

1. Ahichchhatra and Jhinjhana
2, Atranjikhera and Noh

3, Saipai and Atrajikhera

4, Bargaon and Ambakheri
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[Question ID = 10126][Question Description = 108_6_HIS_0CT22_S2_Q08]
1. 1 [Option ID = 10501]
2. 2 [Option ID = 10502]
3. 3 [Option ID = 10503]
4. 4 [Option ID = 10504]

9) When did Alexander Cunningham find a Harappan seal?

1.1831
2.1853
3.1844
4.1863
T, ST B 55Ul Yot &F 14 ?
1.1831
2.1853
3.1844
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[Question ID = 10127][Question Description = 109_6_HIS_0OCT22_S2_Q09]
1. 1 [Option ID = 10505]
2. 2 [Option ID = 10506]
3. 3 [Option ID = 10507]
4. 4 [Option ID = 10508]

10) Karambha, a dish during the Rig-vedic period was made of

1. Grain

2, Barley

3. Sesame

4, All of the above
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[Question ID = 10128][Question Description = 110_6_HIS_0OCT22_S2_Q10]
1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510]
3. 3 [Option ID = 10511]
4. 4 [Option ID = 10512]



11)  In Bhasa drama, Dradirocharudatio, the term yavanika refers to

1. Youthful maiden
2. The curtains

3. The shoes

4, Tasty dish
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[Question ID = 10129][Question Description = 111_6_HIS_0OCT22_S2_Q11]
1. 1 [Option ID = 10513]
2. 2 [Option ID = 10514]
3. 3 [Option ID = 10515]
4. 4 [Option ID = 10516]

12) Daojali Hading, a Neolithic site is located in which area?

1, North Cachar Hills
2, Mishmi Hills

3, Aber Hills:

4, Mijo Hills
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[Question ID = 10130][Question Description = 112_6_HIS_0CT22_S2_Q12]
1. 1 [Option ID = 10517]
2. 2 [Option ID = 10518]
3. 3 [Option ID = 10519]
4. 4 [Option ID = 10520]

13) A painted pot, from which site of Harappan civilization depicts a tree holding a fish
and a fox-like animal below reflecting the story of * The Clever Fox' narrated in the
Panchtantral

.Dholavira

. Desawal

. Rakhigarhi
. Lothal
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[Question ID = 10131][Question Description = 113_6_HIS_0OCT22_S2_Q13]



1 [Option ID = 10521]
2 [Option ID = 10522]
3 [Option ID = 10523]
4 [Option ID = 10524]

A wnN =

14) In Aihole inscription, the writer Ravikirti compared himself with

1. Kalidas and Bhasa

2, Kalidas and Amar Singh
3. Sudrak and Bhasa

4, Sudarak and Harisen
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[Question ID = 10132][Question Description = 114_6_HIS_OCT22_S2_Q14]
1. 1 [Option ID = 10525]
2. 2 [Option ID = 10526]
3. 3 [Option ID = 10527]
4. 4 [Option ID = 10528]

15)  Which one of the following saints was a follower of the Vaishnava tradition?
1. Devaradasimayya

2, Nammalvar

3, Appar

4, Allamaprabhu
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[Question ID = 10133][Question Description = 115_6_HIS_0OCT22_S2_Q15]
1. 1 [Option ID = 10529]
2. 2 [Option ID = 10530]
3. 3 [Option ID = 10531]
4. 4 [Option ID = 10532]

16) Guru Hargobind founded Miri and Piri

1. To challenge the Mughal hegemony

2,To help the peasants resist the increased land tax

3. To include bath temporal and spiritual paradigms in Sikhism
4, To reduce the growing superstitions ameng his followers
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[Question ID = 10134][Question Description = 116_6_HIS_0CT22_S2_Q16]



1 [Option ID = 10533]
2 [Option ID = 10534]
3 [Option ID = 10535]
4 [Option ID = 10536]

A wpN =

17) How many village functionaries were linked to the Ayagar grants under the
Vijayanagar empire?

12
10
11
13

il
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[Question ID = 10135][Question Description = 117_6_HIS_0OCT22_S2_Q17]
1. 1 [Option ID = 10537]
2. 2 [Option ID = 10538]
3. 3 [Option ID = 10539]
4. 4 [Option ID = 10540]

18) Who among the following first referred to the Chaudhburis (as Jautar) as the
headman of non-Muslim revenue payers?

1. 1br Battuta

2, Farishta

3, Mahru

4, Shamsuddin Afif
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[Question ID = 10136][Question Description = 118_6_HIS_0CT22_S2_Q18]
1. 1 [Option ID = 10541]
2. 2 [Option ID = 10542]
3. 3 [Option ID = 10543]
4. 4 [Option ID = 10544]

19) Which among the following is celebrated as the fifth Veda in Tamil and also
remains the twelfth book in the Saiva cannon?

1. Tiruttondar-Tiruvandadi
2, Tiruttondaltugar

3. Tiruvisaippa

4, Tiruttundar-Puranam
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[Question ID = 10137][Question Description = 119_6_HIS_0CT22_S2_Q19]
1. 1 [Option ID = 10545]
2. 2 [Option ID = 10546]
3. 3 [Option ID = 10547]
4. 4 [Option ID = 10548]

20) Dadni system became prevalent in medieval India because

1.1t gave impetus‘to both inland and foreign trade
The desire of European companies to reduce artisans to the level of wage
2, earners
3. Crisis'in Mughal econemy due te continious warfare under Aurangzeb
4, Shortage of raw materials due to recurring famines in medieval India
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[Question ID = 10138][Question Description = 120_6_HIS_0OCT22_S2_Q20]
1. 1 [Option ID = 10549]
2. 2 [Option ID = 10550]
3. 3 [Option ID = 10551]
4. 4 [Option ID = 10552]

21) To address which problem the Karori experiment was undertaken by Akbar ?

1. corruption among zamindars

2, less revenue payment by the peasants

3. increase Jama assessment

4, address the gap between Jama and Hasil

NHET g [ T o Gy § SIS UUFT SOy 79 Uy ?
1. SHIGRI & 98 YFFER
2, PUS| gRI ©F e
3, STHT B B Hiwe @I 9giH 8g
4, 5] SR SIS & A9 IR & HaH 8q

[Question ID = 10139][Question Description = 121_6_HIS_0OCT22_S2_Q21]
1. 1 [Option ID = 10553]
2. 2 [Option ID = 10554]
3. 3 [Option ID = 10555]
4. 4 [Option ID = 10556]



22) According to KV. Krishna lyer, the fair of Mamankam ended with the conguest of
Kazhikade by which power?

1. The British East India Company
2, The Sultanate of Mysore

3. The French East India Company
4, The Valluvanatu Chiefs
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[Question ID = 10140][Question Description = 122_6_HIS_0CT22_S2_Q22]

1. 1 [Option ID = 10557]
2. 2 [Option ID = 10558]
3. 3 [Option ID = 10559]
4. 4 [Option ID = 10560]

23) Who among the following rued the destruction of Kashmir under Sikander?

1. Suka Pandit
2, Srivara

3, lonaraja

4, Prajyabhatta
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[Question ID = 10141][Question Description = 123_6_HIS_OCT22_S2_Q23]

1. 1 [Option ID = 10561]
2. 2 [Option ID = 10562]
3. 3 [Option ID = 10563]
4. 4 [Option ID = 10564]

24) Who among the follewing gave the theory of 'Pushtimarga'?

1. Chaitanya
2, Ramanuja
3. Vallabha
4, Rarmanand

Faforad # 9 feg- ot & fasid wega e 2
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[Question ID = 10142][Question Description = 124_6_HIS_OCT22_S2_Q24]
1. 1 [Option ID = 10565]
2. 2 [Option ID = 10566]
3. 3 [Option ID = 10567]



4. 4 [Option ID = 10568]

25) Which among the following Mughal painters drew the portrait of the Shah of Persia?
. Bishandas

. Mansur

.Manghar

da WM =

. Biswan
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[Question ID = 10143][Question Description = 125_6_HIS_0OCT22_S2_Q25]
1. 1 [Option ID = 10569]
2. 2 [Option ID = 10570]
3. 3 [Option ID = 10571]
4. 4 [Option ID = 10572]

26) Who was elected as the President of Justice Party in 19377

1..Dr. T. M. Nair

2, Ramaswamy Naicker
3, P. Theagaraya

4, Shri Marayan Guru

1937 H, SIfe2E UIel @1 feggl fovd 91 71 2
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[Question ID = 10144][Question Description = 126_6_HIS_0CT22_S2_Q26]
1. 1 [Option ID = 10573]
2. 2 [Option ID = 10574]
3. 3 [Option ID = 10575]
4. 4 [Option ID = 10576]

27) Who replaced Pethick Lawrence as the Secretary of State for India in April 19477

1. Sir Cyril Radcliffe
2, Lord Listowe|

3. Lord Auchinleck
4, Lord Ismay

UT 1947 H a7 UG Io9-9iua (Tl AP ¥e) © ol I Ui arng &1 &
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[Question ID = 10145][Question Description = 127_6_HIS_0CT22_S2_Q27]
1. 1 [Option ID = 10577]
2. 2 [Option ID = 10578]



3. 3 [Option ID = 10579]
4. 4 [Option ID = 10580]

28) Which Viceroy earned the derisive epithet of "Clemency” prefixed to his name from
his own countrymen?

1. Lord Canning
2. Lord Lytton

3. Lord Wavell

4, Lord Dalhousie
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[Question ID = 10146][Question Description = 128_6_HIS_0OCT22_S2_Q28]
1. 1 [Option ID = 10581]
2. 2 [Option ID = 10582]
3. 3 [Option ID = 10583]
4. 4 [Option ID = 10584]

29) The Age of Consent Act, 1891 raised the age for the consummation of marriage for
wemen to

1. 14 years
2,15 years
3.13 years
4,12 years
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[Question ID = 10147][Question Description = 129_6_HIS_0CT22_S2_Q29]
1. 1 [Option ID = 10585]
2. 2 [Option ID = 10586]
3. 3 [Option ID = 10587]
4. 4 [Option ID = 10588]

30) The Indian Council's Amendment of 1892 was also known as

1. Lord Robert's Act

2. Lord Aitchison's Act
3. Lord Cross's Act

4, Lord North's Act
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[Question ID = 10148][Question Description = 130_6_HIS_OCT22_S2_Q30]
1. 1 [Option ID = 10589]
2. 2 [Option ID = 10590]
3. 3 [Option ID = 10591]
4. 4 [Option ID = 10592]

31) Under whose leadership was the Public Service® Commission appointed, which
recommended the raising of the maximum age for examination?

1. Lerd William Digby
2. Charles Aitchison
3, Herbert Risley

4, Valentine Chirol

fa® Saa § aid 9ar an s b 7 forgH uiia 8q sifteas eg-dim @gH
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[Question ID = 10149][Question Description = 131_6_HIS_0CT22_S2_Q31]
1. 1 [Option ID = 10593]
2. 2 [Option ID = 10594]
3. 3 [Option ID = 10595]
4. 4 [Option ID = 10596]

32) Who took up the issue of cow protection in 18717

1. Akalis

2, Kukas

3. Arya Samaj

4, Brahmo Samaj

{5 1871 5 719 W& & e, & 36M1 ?
1, BT
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4, el HHI9
[Question ID = 10150][Question Description = 132_6_HIS_OCT22_S2_Q32]
1. 1 [Option ID = 10597]
2. 2 [Option ID = 10598]

3. 3 [Option ID = 10599]
4. 4 [Option ID = 10600]



33) Which leader proposed to Dada Saheb Phalke to-start the Hindustan Cinema Film
Company which was to collaborate with some American producers in making films
for export as well as for the domestic market?

1. Satyamurti

2. Bal Gangadhar Tilak
3. M. G. Ranade

4, Dadabhai Naoroji

fog e 4 1T Hies Bivs @ G 74l 9¥Q SI9 (H41d 5 SHN®! FHEias] &
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[Question ID = 10151][Question Description = 133_6_HIS_0OCT22_S2_Q33]
1. 1 [Option ID = 10601]
2. 2 [Option ID = 10602]
3. 3 [Option ID = 10603]
4. 4 [Option ID = 10604]

34) Who were the agents of the Lumiere brothers who first exhibited film clips-on
Cinematograph in Bombay in 18967

1. Louis and Vincent

2, Veyre and Marius Sestier

3. R. G. Terney and Franz Osten
4, Karandikar and Divakar
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[Question ID = 10152][Question Description = 134_6_HIS_OCT22_S2_Q34]
1. 1 [Option ID = 10605]
2. 2 [Option ID = 10606]
3. 3 [Option ID = 10607]
4. 4 [Option ID = 10608]

35) Bina Das, a woman revolutionary’ who shot Sir Stanley Jacksen, the Governor of
Bengal at Calcutta University's convocation belonged to which college?

1. Presidency College

2, Diocesan Women's College
3, Calcutta College

4, Sanskrit College
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[Question ID = 10153][Question Description = 135_6_HIS_0CT22_S2_Q35]
1. 1 [Option ID = 10609]
2. 2 [Option ID = 10610]
3. 3 [Option ID = 10611]
4. 4 [Option ID = 10612]

36) In 1850, the new Enfield rifle replaced which old gun?

. Browrn Bess
. Delvigne

. Brunswick

. Baker

W -
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[Question ID = 10154][Question Description = 136_6_HIS_0OCT22_S2_Q36]
1. 1 [Option ID = 10613]
2. 2 [Option ID = 10614]
3. 3 [Option ID = 10615]
4. 4 [Option ID = 10616]

37) Who hoisted the flag at the Gowalia Tank Maidan, Bombay on 9™ August 1942

during the Quit India Movement?

1. Aruna Asaf Al
2, Sarojini Naidu
3, Vinoba Bhave
4, Asaf Ali

YR BIS] e & GIUH 9 3T 1942 DI afdl © @iel] c@ JaH § (68 3131
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[Question ID = 10155][Question Description = 137_6_HIS_0CT22_S2_Q37]
1. 1 [Option ID = 10617]
2. 2 [Option ID = 10618]
3. 3 [Option ID = 10619]
4. 4 [Option ID = 10620]



38) Who among the following foreign travellers wrote that the Vijaynagara Empire had
an estimated '90,000 men fit to bear arms'?

1. Nuniz

2. Stefano

3, Nikitin

4, Nicolo Conti
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[Question ID = 10156][Question Description = 138_6_HIS_OCT22_S2_Q38]
1. 1 [Option ID = 10621]
2. 2 [Option ID = 10622]
3. 3 [Option ID = 10623]
4. 4 [Option ID = 10624]

39) Which text opens with a provocative opening statement, "The historiography of
Indian nationalism has for a long time been dominated by elitism."?

1. The Elementary Aspects of Peasant Insurgency in Colonial India
2. Subaltern Studies Vol. |
A Rule of Property for Bengal ; An Essay on the ldea of Permanent Settlement in
3. Bengal
4, Pegsant moverrent in Colonial India ; North Bikar, 1917-1942
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[Question ID = 10157][Question Description = 139_6_HIS_OCT22_S2_Q39]
1. 1 [Option ID = 10625]
2. 2 [Option ID = 10626]
3. 3 [Option ID = 10627]
4. 4 [Option ID = 10628]

40) To whom did the Mahatma Garidhi advise the following:

"I have sent you messages that you should not die underground, You are reduced to
a skeleton. Do come out and surrender yourself and win the prize offered for your

arrest,”

JAruna Asaf Ali
. Bhikaji Cama

.Bhagat Singh
. Sukhdev

J5 WM =
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[Question ID = 10158][Question Description = 140_6_HIS_0CT22_S2_Q40]
1. 1 [Option ID = 10629]
2. 2 [Option ID = 10630]
3. 3 [Option ID = 10631]
4. 4 [Option ID = 10632]

41) Consider the following related to the revenue officials in the village system under
the Mughals,

&, Akbar assigned jagirs to Qanunge in lieu of commission of ene percent out of the
revenue collection

B, Qanungao was expected o ensure law and order during the revenue collection in
the region assigned ta him

C. Qanungo along with Chaudhuri and Mugaddams® were the signatories to
gabuliyat drawn by amins

D. Qanunge was expected to report to the state official any illegal exaction of
revenue an part of amil

E, Qanungo was the permanent keeper of information pertaining to revenue records
in area under him

Choose the correct answer from the options given below:

1.A, B C DandE

2.8, C, D and E only
3.A, C Dand E only
4 A B CandEonly
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1.4, B, C DIANE

2, $a9 B, C, DIRE
3, TaAA, €, DIHRE
4, FHAAA, B CHARE

[Question ID = 10159][Question Description = 141_6_HIS_OCT22_S2_Q41]
1. 1 [Option ID = 10633]
2. 2 [Option ID = 10634]
3. 3 [Option ID = 10635]
4. 4 [Option ID = 10636]

42) Which of the fellowing statements are correct?
&, Balban considered kingship as niyabat-1 khudal and adepied the title of Zillullah

B, Balban considered that the Sultan is exempted from all kind of decorum and
etiquettes

. Balban recorded his political wisdom in Wasaya to his son

D. Balban traced his genealogy from the Arabic legendary hero Afrasiyab
E, Balban considered justice to be very important power of any Sultan
Choose the correct answer from the options given below;

1.4, Band D only
2.C, D and Eonly
3,A, Cand Eonly
4, Dand Eonly
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1. FaT A BHARD
2. $aAC, DHRE
3, FaAA, CHRE
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[Question ID = 10160][Question Description = 142_6_HIS_OCT22_S2_Q42]
1. 1 [Option ID = 10637]
2. 2 [Option ID = 10638]
3. 3 [Option ID = 10639]
4. 4 [Option ID = 10640]

43) Considered the following statement concerning artisans’ settlements and
organisations in south India

A, Artisan settiement alongside the Coromandel Coast were autonomous and free
from any control

B, Urban centers broke into the caste cohesion among the artisans

C. Formation of Kammalas caste in Tamilnadu was inclusion of five inter-community
specialities like blacksmiths, carpenters, coppersmiths, stone masons, goldsmiths
and silversmiihs

D. Caste solidarity enabled artisans to protect their rights in form of closure of their
shops and migration

E. Castes like Kammalas and Kaikkolas also acted as donors to temples
Choose the correct answer from the options given below;

1.C, D and E only
2.8, Cand D only
3.B, Cand Eonly
4 A B CandEonly
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[Question ID = 10161][Question Description = 143_6_HIS_OCT22_S2_Q43]
1. 1 [Option ID = 10641]
2. 2 [Option ID = 10642]
3. 3 [Option ID = 10643]
4. 4 [Option ID = 10644]

44) Consider the following statements, pick the correct answer
A. Zamindari was hereditary and thus not saleable

B. Zamindars were impertant intermediaries between the state and local population
in the villages

C. The Mughals failed to force zamindar to conform to the imperial authority to a
great extent

D. Zamindari was created only in areas outside the direct imperial authority under
the Mughals

E. Sher Shah found both zamindars and muggadams appropriating states's share
Choose the correct answer from the options given below:

1.4 and D only

2.8 and Eonly

3.4 Cand Donly
4.8,C, DandE only
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[Question ID = 10162][Question Description = 144_6_HIS_OCT22_S2_Q44]
1. 1 [Option ID = 10645]
2. 2 [Option ID = 10646]
3. 3 [Option ID = 10647]
4. 4 [Option ID = 10648]

45) Caonsider the following statements concerning transportation in Mughal India, Pick
the correct one.

A. Large qafilas offered protection to the movement of the goods.

B, Qafilas also witnessed internal fights which sometimes resuited in fatalities.

C. Banjaras' camps were called tanda.

D. Water transport was found to be less expensive by many contermnporary sources.

E. Loss of draught animals during movement of goods had to be borne by the
traders to the full,

Choose the correct answer from the options given below;

1.A, B C DandE
2.A B Cand Donly
3.A CandEonly
4 A B DandEonly
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[Question ID = 10163][Question Description = 145_6_HIS_OCT22_S2_Q45]
1. 1 [Option ID = 10649]
2. 2 [Option ID = 10650]
3. 3 [Option ID = 10651]
4. 4 [Option ID = 10652]

46) Consider the following statements about the horse trade in Vijaynagar Empire, Pick
the correct ones.

A, Rulers of Vijaynagar were also addressed as Asupati (Lords of Horses),

B, Even the tail of a dead horse brought by the horse traders was paid with full
amount egual to a live horse,

C. Nuniz records the purchase of over 30,000 war herses by the rulers of Vijaynagar
EVETy Vear,

D. The rulers of Vijaynagar patronized horse breeding and their care,

E. Krishnadevaraya even offered to Albuguerque large amiounts in return of exclusive
control over horse trade.

Choose the correct answer from the options given below;

1.4, Band Conly
2.8, Cand Eonly
3.4 Dand Eonly
4 A Band Eonly
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[Question ID = 10164][Question Description = 146_6_HIS_OCT22_S2_Q46]
1. 1 [Option ID = 10653]
2. 2 [Option ID = 10654]
3. 3 [Option ID = 10655]
4. 4 [Option ID = 10656]

47) Consider the following statements about village communities and pick the correct

Ones.

A, Balutedar were twelve categories of village artisans and servants
B. Balutedar were further divided into four categornies

C. Hindu temple keepers did not constitute part of balutedar

D. Balutedar with permanent resident rights in the village were called
watan balutedar

E, Certain categories of balutedar were also given revenue free land for cultivation
by the village communities:

Choose the correct answer from the options given below;

1.4, Dand E only
2,4 Band Eonly

3. D and E only

4 A B Cand Donly
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[Question ID = 10165][Question Description = 147_6_HIS_OCT22_S2_Q47]
1. 1 [Option ID = 10657]
2. 2 [Option ID = 10658]
3. 3 [Option ID = 10659]
4. 4 [Option ID = 10660]

48) Consider the following statements. Pick the correct ones.
A, lltutmish constructed "Sultan Garhi' for his deceased son
B, In the original plan, Quiub Minar was to have five storeys
C. Square type of tombs became prevelant under the Khaljis

D. Arches with its 'fringe’ at Atala Masjid (Jaunpur) are influenced by the
Tughlag style

E. Slanting walls of the tomb of Sultan Ghiyasuddin Tughlag shows influence of the
llbari style

Choose the correct answer from the options given below;

1.4, D and E only
2.Cand Eonly
3.8, Cand D only
4 A and D only
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[Question ID = 10166][Question Description = 148_6_HIS_OCT22_S2_Q48]
1. 1 [Option ID = 10661]
2. 2 [Option ID = 10662]
3. 3 [Option ID = 10663]
4. 4 [Option ID = 10664]

49) Consider the following statements. Pick the correct ones.

A. Rekhta is a style of writing which combines both Hindi and Persian phrases and
vocabulary

B. Bhakii saints evolved rekhta in the nagari script

C. Sufis wrote rekhta in the Persian script

D. Rekhta also refers te musical terminology priar to the eightsenth century
E. Rekhta also developed under the patronage of the Mughals

Choose the correct answer from the options given below;

1. A, Cand Danly
2.B, Cand D only
3.A, B, C DandE
4 A Band Conly
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[Question ID = 10167][Question Description = 149_6_HIS_0OCT22_S2_Q49]
1. 1 [Option ID = 10665]
2. 2 [Option ID = 10666]
3. 3 [Option ID = 10667]
4. 4 [Option ID = 10668]

50) Caonsider the following statements and pick the correct ones,
A, Tipu Sultan declared himself Padshah and Khutba was read on his name
B, Tipu Sultan introduced the Muhammadi era
C. Tipu struck a new currency called ‘Tmami’
D. Tipu persecuted Mahdavis under his rule
E. Kanara Christians faced imprisonment and hardship during Tipu's rule
Choose the correct answer from the options given oelow;

1.4, Band D only
2.B,C, DandE only
3.A B Cand Donly
4ABCDandE



fFrafeiad syl i f4aRr SifeT w6 ¥el @ 95 Pifer
A, 21 geaT - 90 &I greans giisd 641 ol 38 /4 § Gl Ul sl U

B. E10 GeuiH - He5E TF @ HILH [l

C. 21 4 SHHE" 9@ A% 351 gadls

D. #9720+ IRE H Jeaiedl @1 3ais bl

E. BRI 301541 @l 21 & WA & S0 o Td BisA1gal &1 GiE-] &l 98T
e ToT T fased| | 6 U5 O o1 999 Sl ;

1. a0 A BHRD
2. Pa0E,C,DHRE
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[Question ID = 10168][Question Description = 150_6_HIS_0CT22_S2_Q50]
1. 1 [Option ID = 10669]
2. 2 [Option ID = 10670]
3. 3 [Option ID = 10671]
4. 4 [Option ID = 10672]

51) Consider the following statements and pick the correct ones,
A, Krishnadevaraya wrote Madhura Vijayam
B. Both Telugu and Kanarese literature were patronized by Vijaynagar rulers
C. Devraya || composed Amuktamalayada

D. Parasara Madhaviya by Madhavacharaya was written during the reign of
Vijaynagar empire

E. Queen Gangadevi composed Varadambika Parinayam
Choose the correct answer from the options given below;

1.4, BC, Dand E
2.B, D and Eonly
3.B and C only

4 A B DandE only
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[Question ID = 10169][Question Description = 151_6_HIS_0CT22_S2_Q51]
1. 1 [Option ID = 10673]
2. 2 [Option ID = 10674]

3. 3 [Option ID = 10675]
4. 4 [Option ID = 10676]

52) Caonsider the following statements and pick the correct ones,

A, Sultan Razia appointed officers name Khwaja to regulate the income and
expenditure of igtas:

B. Sultan Alauddin Khalji introduced agrarian reforms to bring all revenue payers
under the state dues witheut exemptions

C. Sultan Firoz introduced taccayi loans to help the peasants in distress
D. ljara system increased the plight of the peasants

E. Sher Shah Suri abolished the rights of zamindars to help the farmers
Choose the correct answer from the options given below;

1..B and D only
2.B and Eonly

3. Aand B only
4. A Band Eonly
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[Question ID = 10170][Question Description = 152_6_HIS_0CT22_S2_Q52]
1. 1 [Option ID = 10677]
2. 2 [Option ID = 10678]
3. 3 [Option ID = 10679]
4. 4 [Option ID = 10680]

53) Which of the following were not the basic part of Mughal Rajput alliance
A, Marriages
B, Mansabdari
C. Watan jagir
D. Inam jagir
E, Sulh-i-Kul
Choose the correct answer from the options given below;

.B and C only
.B and D only
.C and D only

da W -

.C and Eonly



FafaiEd § 9 @F 9 g7e-29gd 35 & HE 8] 67
A, fag®

B. HHECH]

C. I SR

D. 318 9Pl

E §%-5-90

i TqU I faed| | 4 He] 5ot 984 Bl -

1. PAAB AR C
2, FEAB AN D
3, FAACARD
4, %A C ARE

[Question ID = 10171][Question Description = 153_6_HIS_0OCT22_S2_Q53]
1. 1 [Option ID = 10681]
2. 2 [Option ID = 10682]
3. 3 [Option ID = 10683]
4. 4 [Option ID = 10684]

54) Which of the following Sanskrit works are considered as- biographies/ historical
narratives of ancient Indian kings?

A, Svapnavasavadatta

B. Harshacharita

C. Mudrarakshasa

D. Vikramorvashiya

E, Shivsangrama

Choose the correct answer from the options given below;

1.4, Band Conly
2.A BandDonly
3.A Band Eonly
4, B and Conly
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2, FAAA BARD
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4, FAAB AN C

[Question ID = 10172][Question Description = 154_6_HIS_OCT22_S2_Q54]
1. 1 [Option ID = 10685]
2. 2 [Option ID = 10686]
3. 3 [Option ID = 10687]
4. 4 [Option ID = 10688]

55) Which of the following places are famous for generating knowledge through
philosophical debates during 12™ and 16'" centuries?

A, Banaras

B. Mithila

C. Navadvipa

D. Kanchipuram

E, Mathura

Choose the correct answer from the options given below;

1.A Band Conly
2. B and Conly
3.C and Eonly
4 A DandEonly
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[Question ID = 10173][Question Description = 155_6_HIS_0OCT22_S2_Q55]
1. 1 [Option ID = 10689]
2. 2 [Option ID = 10690]
3. 3 [Option ID = 10691]
4. 4 [Option ID = 10692]

56) The most defining literary features of the Sangam tradition are
A, Tamilakam
B, Puranmy
C. Prabandham
D. Akam
E. Sodh
Choose the correct answer from the options given oelow;

1.A and E-only
2.8 and Conly
3.B and D only
4. A and B only
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[Question ID = 10174][Question Description = 156_6_HIS_OCT22_S2_Q56]
1. 1 [Option ID = 10693]
2. 2 [Option ID = 10694]
3. 3 [Option ID = 10695]
4. 4 [Option ID = 10696]

57) Which is/are correct out of the following?
A. Mangal Pandey killed an English Adjutant on 291" March, 1857
B, ‘Doctrine of Lapse’ was imposed by Lord Dathgusie

C. After Fagir-ud-Din's death in 1856, Lord Canning announced that the next in
succession prince would have to renounce the regal title

D. The Religious Disabilities Act was passed in 1852
E. General Hewitt was the officer commanding at Meerut
Choose the correct answer from the options given below;

1.A B C DandE
2.A B Cand Donly
3.A B CandEonly
4 A Band Conly
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1.4, 8, C DIANE
2, FaTA, 8 CHRD
3, HATA, B, CHRE
4, FAAABARC

[Question ID = 10175][Question Description = 157_6_HIS_0CT22_S2_Q57]
1. 1 [Option ID = 10697]
2. 2 [Option ID = 10698]
3. 3 [Option ID = 10699]
4. 4 [Option ID = 10700]

58) Which is/ are correct regarding the impact of British rule?

A. The growth of the Indian foreign trade was neither natural nor normal; it was
artificially fostered to serve imperialism

B. The composition and character of the foreign trade was imbalanced
C. India experienced drain of wealth

D. The ruin of indigenous industries and the absence of other avenues of
employment forced millions of craftsmen to crowd inte agriculture

E. There was a progressive decline and destruction of urban and rural handicraft
industries

Choose the correct answer from the options given below;

1.4, B, Cand Donly
2,AB C DandE
3.4 Band Conly

4 Aand Benly
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[Question ID = 10176][Question Description = 158_6_HIS_OCT22_S2_Q58]
1. 1 [Option ID = 10701]
2. 2 [Option ID = 10702]
3. 3 [Option ID = 10703]
4. 4 [Option ID = 10704]

59) Which of the following are correct ?
A. History is concerned with human beings operating in society
B. History is concerned with change through time
C. History is not concerned with change through time
D. History is concerned with the concrete and the particular
E. History is not concerned with human beings operating in society
Choose the correct answer from the options given below;

1.A Band D only
2.A B DandEonly
3.A C DandE only
4 A Band Eonly
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[Question ID = 10177][Question Description = 159_6_HIS_0CT22_S2_Q59]
1. 1 [Option ID = 10705]
2. 2 [Option ID = 10706]
3. 3 [Option ID = 10707]
4. 4 [Option ID = 10708]

60)  Which of the following are correct?
A, History provides us a sense of put own identity
B, History helps us better understand the past
C. History does not provide the basic background for many other disciplines

D. History enables us to understand the tendencies of humanrkind, social institutions
and all aspects of the human candition

E, The careful study of history teaches many critical skills
Choose the correct answer from the options given below;

1.4, B, D and E only
2.A B Cand Donly
3.A Band Conly
4 A BandDonly



e ddend sy 9g1 82

A. 380 & 89K W &1 Ugd &l Mg &l o

B. 3faeTd ¥ rdid &f dead adld Y 949 4 A5t ol 8l

C. 3laer™ o 3= [auaf & foe gf-g16] ygYiH 8] e &l |

D. 3fer B9 1Ol gMifee 9w IR aee-fuf & v @ ous O
&

£, 3faeT0 &1 TeYFgd® a9 81 @ Hea gyl S el g

i< fou e fadedf 5 © T8) Ove @1 994 DI ;

1.3aAA, B, D ARE
2, FaTA, 8 CHRD
3, FEAA BHARC
4, FAAABARD

[Question ID = 10178][Question Description = 160_6_HIS_0CT22_S2_Q60]
1. 1 [Option ID = 10709]
2. 2 [Option ID = 10710]
3. 3 [Option ID = 10711]
4. 4 [Option ID = 10712]

61)  Which of the following are incorrect?
A, Rabindranath Tagore was bom in Calcutta
B. In 1812, Tagore composed Jana, Gang, Mang (now India's National Anthem)
C. In 1920, Tagore received the Noble Prize for Literature
D. In 1925, Tagore was awarded the knighthood by the British monarch, George V
E. Tagore was a painiter of unusual merit and painted some 3000 pictures
Choose the correct answer from the options given below;

1.A, B, CandEonly
2.A B CandDonly
3.4 Band Eanly
4 A BandDonly



fFrafeiad § | @11 § ®4F 981 76l 6 7

A, a1 SR @1 &F Hadl 4 g 4

B. 1912 H 7R = S 710 F (€ WA & UPHH) B 35 B

C. 1920 # TR @l Wiied H Al9a JEOR 0l

D. 1925 ¥ fafewr e 56 v 3 TR &1 Aigegs @t IUIfE ueH &1

E. 7R Us HHHIG GRUaiare REeR U 3R 3514 T 3000 99 €41
i oT e fasedl | 9 981 97 1 99 Sl ;

1. PaTA, B CHARE
2. FaAA, B CHRD
3, FaAAABHARE
4 FEAABARD

[Question ID = 10179][Question Description = 161_6_HIS_0OCT22_S2_Q61]
1. 1 [Option ID = 10713]
2. 2 [Option ID = 10714]
3. 3 [Option ID = 10715]
4. 4 [Option ID = 10716]

62) Which of the following are correct?

A, The first demand for a linguistic province was raised by the Telugu-speaking
people of Andhra

B. On 16™ August 1951, Swami Sitaram started a fast unto death in support of the
demand for a separate Andhra state

C. Potti Sriramulu lost his life after fasting for 56 days'

D. A States’ Reorganization Commission was setup in 1958

E. In 1966, Punjab was recosntituted inte Punjab, Haryana and Himachal Pradesh
Choose the correct answer from the options given below;

1.4, Band Conly

2.A B DandE only
3.A B Cand Donly
4 A B CandEonly



EEIITCLEGAlE R kg E R
A. HISR Hid o 7T ggell |7 Mg & di] Hibl &rl - 3818 4l

B. 16 3715 1951 & fad @l SIaR = UUE Y Tog & 51 & G949 § a0
32 [ T 4nl

C. B el b IUary W ® 416 4igl SRHe B 5 & 13

D. I8 GH1aA AT 1958 H 4701 774 41

E. 1966 H e @ duire, AT 3R A e & Gitod fodr 71|

1 fau U fadedl | & Wel 3ok o 99 Sl ;

1.FaAA, B AR C

2, PATA, B DIARE
3, FAAA, 8 CHRD
4, FAAA, B, CARE

[Question ID = 10180][Question Description = 162_6_HIS_0CT22_S2_Q62]
1. 1 [Option ID = 10717]
2. 2 [Option ID = 10718]
3. 3 [Option ID = 10719]
4. 4 [Option ID = 10720]

63)  Which of the following are correct?
A, The Indian Cimenatograph Act was passed in 1918
B. Vijay Bhatt directed the film 'Ram Rajya’ in 1943
C. The film Bhakt Vidur (1921) related to the epic Mahabharata
D.'Neel Darpan’ was written by Deshbandhu Chattopadhyay
E. D. W. Griffith directed the film The Birth of a Nation,
Choose the correct answer from the options given below;

1.A, B, Cand Donly
2.A B CandEonly
3.A, B, C DandE
4 A Band Conly



Feffed sy a9 aR I T e ?

A. RO goiias -9 1918 H Uiike goi 41|

8. fasg ¥z 7 1943 H v v fihew @1 FawE fasm

c. o Y fagy (1921) TeRiRE Te@es 4 gaidd |

D. Hie QYT BT TREA GIsY T J e |

E, 31, Sy, Mftpy 3 =4 315 ¢ 337 fthedy 1 G favar i)
i oT e fasedl | 9 981 97 1 99 Sl ;

1. $aA, B CIRD
2. FaAA, B CHRE
3.A B CDINE
4 FAAABHARC

[Question ID = 10181][Question Description = 163_6_HIS_0OCT22_S2_Q63]
1. 1 [Option ID = 10721]
2. 2 [Option ID = 10722]
3. 3 [Option ID = 10723]
4. 4 [Option ID = 10724]

64) Which of the following correct 7

A, R.G. Collingwood said, "As works of the imagination the historian’s work and the
novelist's do not differ. Where they do differ is that the historian's picture is-meant
to be true.”

8, Willen de Kooning said, "The present does not influence me; | mfluence it.”

C. Marc Blach said, "But history is neither watch-making nor cabinet construction. It
is an endeavour tewards better understanding.”

D. David Shannon said, "Life is not simple and therefore history, which is past life, is
not simple.”

E. Ambrose Bierce said, "God alone knows the future, but enly a historian can alter
the past.”

Choose the correct answer from the options given below;

1.A, B, Cand Donly
2.A C DandE only
3.A,B,C. DandE
4. A Band Conly



e d e s ad 87

A, MRS BIfcigs 4 B8], "Hedal & Bladl & Y H ITeEDRI B Biadl AR
SUAGSRI &1 TS H $I5 ek 761 5l | Sl 3R Al & 98 U6 © 1 J0eHeR
@1 oA o1 AR Tg sl g1

8. facH & BT A @81, "I09F T3 UHITGd 8l Bl 8; 3 o4 wHifad el gl

C. | sid - ], "R 5iaery 1 dl 981 FHA & R 9 8 $iee 1841 I8 sgal
THSER @ feu H ue wae g1

D. 37338 T 3 Tg, "Sia UXa 6] & SN SHiE 3hier, Wifd fad Sia 8, 9 g
gl

E TS faud 4 @8], "dad 3%% 8 HidY @] FHdl & Ui $ad TP 3IdelEdR ol
3 @ g0 g@dl gl

dia feu Tt Al & § 981 9% @1 994 S ;

1.$IA A, B, C3R D
2. Fa0A, C DIANE
3, Pa0A, 8, C. DIRE
4 FEAABHARC

[Question ID = 10182][Question Description = 164_6_HIS_OCT22_S2_Q64]
1. 1 [Option ID = 10725]
2. 2 [Option ID = 10726]
3. 3 [Option ID = 10727]
4. 4 [Option ID = 10728]

65) Which of the following are correct?

A, Primary source is-a plece of evidence written or created during the pericd under

investigation

B. Primary sources are the records of contemporaries who participated in, witnessed,

or commented on the events one is studying

C. Primary sources, do net include newspapers

D. A secondary source is an account of the pericd in question written after the

events have taken place
E. The distinction between primary and secondary sources is always very clear
Choose the correct answer from the options given oelow;

1.4, Cand Donly
2.4, B, Cand Donly
3.A, B, DandE only
4 A BandDonly



aefaT A a e sy HE 82
A, TIUTEE I1d 98 9189 & & 21999 38 $e | o g e gl

B, MU Fid d 918 & o 300 38 geel § 4P o7 91, 9% o die 3udr
39 R ol & g geEee & JNdd gl

C. WHTHS i H SHER 93 I Ael eld 8 |

D. 9EAT & &M & 915 99 @10 & gR & ford guid 9 [gard® did @ed 6
£, MUt IR fadios ikt & <4 &1 fear 95g oaiye Ty e ol
1 fau U fadedl | & Wel 3ok o 99 Sl ;

1.3a0A, CHRD
2, FaTA, 8 CHRD
3, HATA, B, DIARE
4, FAAABARD

[Question ID = 10183][Question Description = 165_6_HIS_0CT22_S2_Q65]
1. 1 [Option ID = 10729]
2. 2 [Option ID = 10730]
3. 3 [Option ID = 10731]
4. 4 [Option ID = 10732]

66) IMatch List | with List 1l

List | List Il
A, Samrat

l. Southemn part
B, Virat 1. Middle country
C.Bhoja  |lll. Western part

D. Raja IV. Eastern part

Choose the correct answer from the options given below:
1T.A-IWV,B-IIl,C-1,D-1l
2A-IVB=1,C-1I, D=1l
SA-LB-I,C=-I,D- 1V
4A-M,B-IV,C-1,D-1l

Tl - & 1Y G - @ e i

LEE CEIRl

A, GHIE J. ST YRTH
g, fave LAY H
c. Yid i1), Oy H
D. Il Iv. gal 4T

= G Tt fawed] | € Go) 9o &1 99 PIeg ;

TLA-IV,B-I,C-1, D~
2ZA-INVB-1,C-1I, D~
3A-LB-ILC=-ll, D-IV
4 4-1LB-IV,C-1, D~

[Question ID = 10184][Question Description = 166_6_HIS_0OCT22_S2_Q66]
1. 1 [Option ID = 10733]
2. 2 [Option ID = 10734]
3. 3 [Option ID = 10735]



4. 4 [Option ID = 10736]

67) Match List | with List 11

List | List 1l

A. Neithal |I. Forest

B. Mullai |Il. Dryland
C. Palai  |lll. Seashore

0.
Kurunji

V. Mountaineous land

Choose the correct answer from the options given below:
LA-LB-1,C-ll, D~V
2ZA-M,B-ILC=],D-1V
3A-1LB-1ILC-IV,D-1
4A-L,B-1,C-1,D-1V

i - o |1y Gl -1l @] e B :

e | = -1l

A, U LE

B. T 11, T &

C. U 11, Tl ae
D. Toull Iv. G

JrafGu Tt Aeed | € o) 9ol &1 997 Py :

1L.A-1,B=Il,C=Il, D-1¥
2ZA-NILB-ILC-I, D-INV
FA-LB-1LC-1IV, D~
4.8 -1LB-1,C-1l, D-INV

[Question ID = 10185][Question Description = 167_6_HIS_O0CT22_S2_Q67]
1. 1 [Option ID = 10737]
2. 2 [Option ID = 10738]
3. 3 [Option ID = 10739]
4. 4 [Option ID = 10740]

68) Match List | with List 1

List | List I
A. Bhavabhuti |I. Sihavishnu
B. Bharavi II. Mahipala
&

|l Pulkesin-I
Rajshekhara

e IV
. Ravi Kirti
Yashovarman

Choose the correct answer from the options given below:
LA-LB-ILEC-1, D-IV
2A-MLB-LC-IV, D-1
JA-IVB-ILE-I, D-1
4A-VB-LT-1l, D-



Yl -1 b HIY Gl -l BT He B ;

gl -| -1l

A, y@fa | Risfas

B, YRfd IRSICEI]

C. ATERER 111, GeTeB I - I
D. DIt Iv. TETEEA

I fou e [awedl & 9 951 9o @] 997 Biuid ;

TLA-LB-N,C-, D-IV
2ZA-ILB-1,C-1V, D~
FA-WB-ILC-1I D-1
4A-IVB=I,C-11, D=1

[Question ID = 10186][Question Description = 168_6_HIS_0CT22_S2_Q68]
1. 1 [Option ID = 10741]
2. 2 [Option ID = 10742]
3. 3 [Option ID = 10743]
4. 4 [Option ID = 10744]

69) Match List | with List Il

List | List Il

A Kamrupa |. Harishchandra
B, Bhakti-ratnakara  |[Il. Shri Chaitanya
;J:.:z;kandeya IIl. Bhauma Pala
D. Vrindavana IV. Shamkaradeva

Choose the correct answer from the options given below:
1T.A-LB-1ILC-IV,D-1l
2ZA-ILB=LC=1D-V
FA-M,B-NM,C-1,D-1l
4A-IVB=1,C-1I,D=1

! - B 1Y G - @ e S

T - Tl -1l

A BHEY 1 efkes

B, Hft-TaTe 11, 8t A
C. TRhUS 1G-GRT07 111, 4 OTE
D. gamad Iv. Sideed

dia fgu Tt [awed] & € Ge) 9o &1 99 P ;

TLA-LB-ILC-I, D-I
2ZA-L,B=LC=ll, D-IV
3.A-NLB=-IV,C-1, D~
4 A-IVB-L,C-1I, D-11

[Question ID = 10187][Question Description = 169_6_HIS_0OCT22_S2_Q69]
1.1

[Option ID = 10745]
2.2

[Option ID = 10746]
3.3

[Option ID = 10747]



4. 4

[Option ID = 10748]

70) Match List | with List 1l

List | List I

A, Essays on the Gita [ AK. Coomaraswamy
B. Religion and Society II. Sri Aurobindo

C. History of ;
Dharmashastra 1. 5. Radhakrishnan
D. Hinduism and Buddhism |IV. V. Kane

Choose the correct answer from the options given below:
1T.A-IW,B=1,C-, D=1l
2ZA-ILB=LC=1V, D=1
3A-LB-LC-1,D-1V
4A-M,B-1,C-1V,D-1l

Tl -1 & 1Y G -1 B HEE S

T - EEiRl

A, TS i g il I U3, GHREEHT
B, [eeiie U wrEEd] II. 8 3Tzl

c. B 3w i 111, T, IO
D. Bges= Us gfa= Iv. O d. @

d e e o] & € Ge) 9o &1 95 P ;

TLA-IV,B=-ILC-1 D-]I
2ZA-IL,B=ULC=IV, D=1
JA-LB-ILC-1, D-IV
4.8 -1LB-1,C-IV, D~

[Question ID = 10188][Question Description = 170_6_HIS_0OCT22_S2_Q70]
1.1

[Option ID = 10749]
2.2

[Option ID = 10750]
3.3

[Option ID = 10751]
4. 4

[Option ID = 10752]



71) Match List | with List Il

List | List Il

(Event under

Aurangzeb) (Year)

A. Mughal-Sikh conflict |l 1669

B. Jat uprising 1. 1672

C. Mughal-Rajput conflict |lIl. 1675
IV.

D. Santnami uprising

1679
Choose the correct answer from the options given below:
1.A-I,B-1,C-IV, D~
2A-IILB-NM,C-1l, D=1
3.A-1B-I,C=I\V, D-1I
4A-1,B=NL,C=1, D-IV

Tl - & 1Y G - @ e i

T - = -1l
SRToid I D) ge-l G
AT - g9 dg l. 1669
8. wie fagig II. 1672
C. JTd - 99T g5 1. 1675
D. g f[asle IV. 1679

e Ru T [Aee ¥ 990 SO &1 90 HIg

TLA-NLB-LC-IV, D-1I
ZA-NB-IVC- I, D~
3A-LB-ILC-IV, D-1II
A A-ILB-NLE-I, D-1IV

[Question ID = 10189][Question Description = 171_6_HIS_0CT22_S2_Q71]
1.1

[Option ID = 10753]
2.2

[Option ID = 10754]
3.3

[Option ID = 10755]
4. 4

[Option ID = 10756]



72) Match List | with List 11

List | List Il
(Events) {Year)
A. Appointmernt of Balaji Baji Rao as Peshwa 1. 17486
B. Dupleix appointed French Governor of Padicherry II. 1748
C. La Bourdonnais, French Governor of Mauritius, captured Madras 1. 1742
D. Treaty of Aix-La-Chapelle and restoration of Madras to the English|IV.
Company 1740

Choose the correct answer fram the options given below:

T.A-IV,B-1,C-1,D-1
ZA-LB-ILC-NILD- IV
S A-ILB-ULE-IViD -]
AA-WB-NMC-I; B -

T -1 & 1Y T -1 B B S ;

gl -| gl -1l
LGl Ty

A, U= & ¥4 1 S[es @ei0g &1 Adied I. 1746
B. Sl @1 Yita=i{l o BIEE! 7Y @& ©U H gl I1. 1748
C. TRIRR & IO e, T ala-ed gRl TR W deell Il 1742
D. USH-ofl-guel & Wiy Y HE &1 Shers @] @i 9 HidIv.
ik 1740

Je Ru T [awel | 9 9o IR &7 904 I

T.A-MB-ILC-|, D-1
2ZA-LE-ILC-1L D=V
SA-ILB-ULE-IV, B~
AA-NB-IV,C-Il, D-1|

[Question ID = 10190][Question Description = 172_6_HIS_0OCT22_S2_Q72]

1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]
3. 3 [Option ID = 10759]
4. 4 [Option ID = 10760]

73) Match List | with List Il

List 1 List Il

(Events) (Year)

A. Society of Trade formed 11769
1L 1775

B. lohn Cartier succeeds Verelst

established

C. Diwani and Faujdari Adalats

I 1765

0. Nand Kumar executed

V1772

Choose the correct answer from the options given below:

T.A-LBE-ILC-MDB-
ZA-IB-MC-L D=1
LA-ILB-ULE-IV,D -]
4A-LB-LC-IV,D-1l




Yl -1 b HIY Gl -l BT He B ;

gl -| CEIE]
A, TS HI® 5 &I 7T67 . 1763
B, 3R & SOUUBR] 94 e a4 . 1775
. Ear ud BISiE Harial Bl RG] Iil. 1765
D. GHTR & B V. 1772

I fou e [awedl & 9 951 9o @] 997 BIuid ;

LA-LB-I,C-IV, D-1I
2ZA-ILB-IV,C-1, D~
FJA-ILB-ILC=IV, D-1
4A-ILB-1,C-1V, D~

[Question ID = 10191][Question Description = 173_6_HIS_0CT22_S2_Q73]
1. 1 [Option ID = 10761]
2. 2 [Option ID = 10762]
3. 3 [Option ID = 10763]
4. 4 [Option ID = 10764]

74) Match List | with List 1|

List | List 11
Books Authors
A. History of Freedom Mevement in Inaia, Vol|l. R.C.

/ Majumdar

B. Rise and Fall of the Christian Power in India ||l. B.D. Basu
C. Gokhale: The Indian Moderates and the Raj ||ll. Lajpat-Rai
D. Young India IV. B.R. Nanda
Choose the correct answer from the options given below:
T.A-LB-ILC-V;BD -1

ZA-LB-ILC-,B-IV

AA-IVB-NLC-ILD-|

4A-LB-NLE-D-IV

Yl -| & °IE YAl - B [HeE DI ;

- il -1l

Bk REELT

A, Tewedl ATE 1T gadc 34 oisal, agd | I, AR, TEER
B. WSS US Wil 316 & fhidg= UTay 39 i1 I, &3 =g

C. 7Tt : § S Ay U8 g U 111, ST 319

D. g sfsan Iv. 13 F=1

de T e # 990 3T &1 99 DIWE:

TA-LB-ILC-1V, D-1Il
2ZA-LB-ILC-NI, D-IV
ZA-IV,B-NILC-I, -1
4 A-ILB-LE-I, D-IV

[Question ID = 10192][Question Description = 174_6_HIS_0CT22_S2_Q74]
1.1

[Option ID = 10765]
2.2



[Option ID = 10766]
3.3

[Option ID = 10767]
4. 4

[Option ID = 10768]

75) Match List | with List 1l

List | List II
A, The policy of Ring Fenece 1. 1857-1835
B. The policy of Subordinate Union |l 1765-1813

=] licy of Subordinat
c hF__. palicy of stibordinate 11l. 1835- 1547
Isolation

D. Policy of Equal Federation IV. 1813-1857
Choose the correct answer from the options given below:
TA-ILB=C-M,D-1IV
2A-1B-1,C=1IlLD-V
3.A-ILB=-1,C=-IV, D=1l
4A-1,B-1,C-IV, D=1

! - B 1Y G - @ e S

T - T -l

A, AR B3 sal it (7 ) . 1857 - 1935
B, HE® Y Hiid Il 1765 - 1813
C. SR e i Il 1935 - 1947
D. THE Uiy Hiid IV. 1813 - 1857

dia fGu e fawed] & € G 9o &1 99 P ;

TLA-ILB=-LC=Ill, D-IV
2ZA-LB-I,C=l, D-IV
JA-ILB=-LC=-IV, D-]l
4A-LB-1,C-1IV, D-]l

[Question ID = 10193][Question Description = 175_6_HIS_0OCT22_S2_Q75]
1.1

[Option ID = 10769]
2.2

[Option ID = 10770]
3.3

[Option ID = 10771]
4. 4

[Option ID = 10772]



76) Which of the following statements are correct?
A. Accession of Kanishka - 58 CE
B. Invasion of Alexander of Macedon - 327-325 B.CE
C. Earliest inscriptional evidence of land grants by Satavahanas = 100-200 C.E
D. End of the Mauryan rule- 185 B.C.E
E, Paddy transplantation started in Magadha region - 400 A.D.
Choose the correct answer from the options given below;

1.A, B, Cand Donly
2B, Cand D only
3.4 Dand Eonly
4ABCDandE

Fafedf 4o d #UT 98l & 7

A, B0 B GaRIeY 58 3.

B. AHgl & [tay @ AT 327 - 325 5.4,

C. TqaTe-t gR1 Y G & gaiiy® SRS RiereE 91sg 100 - 200 3.

D. At 2R &1 3 185 3.1,

E, T4 &F | Y1 TS B Y 400 3.
Jid Tgu U fawedl 5 9§ 96l 9w 9 ;

1. $aA, B CIRD
2. FaE B, C HRD
3, FaAA DIARE
4B CDINE

[Question ID = 10194][Question Description = 176_6_HIS_0OCT22_S2_Q76]
1. 1 [Option ID = 10773]
2. 2 [Option ID = 10774]
3. 3 [Option ID = 10775]
4. 4 [Option ID = 10776]



77)  Arrange the following in a chronolegical manner
A, Earliest Temples
B. First Stupas
C. Early Upanishads
D. Later Vedic Traditions
E, Development ef Mahayana Buddhism
Choose the correct answer from the options given below;

D0,C B AE
O,CBEA
O, B.CAE
DA BCE

da WM =

Fafofed @ sewaTeR aafeE B
A, Gailt AR Hice

B.WHH wH

C. RIS FuiHEg

D. 3R 3iG® TLRE

E. A6 §lg 99ad 9] [der

i feu ¢ fased| | § Hg1 SR &1 989 Sl ;

O,CGB AE
LGB EA
OB.CAE
JO,A B CGE

B S 6 T L T

[Question ID = 10195][Question Description = 177_6_HIS_0OCT22_S2_Q77]
1. 1 [Option ID = 10777]
2. 2 [Option ID = 10778]
3. 3 [Option ID = 10779]
4. 4 [Option ID = 10780]

78)  Arrange the following in a chronological manner
A, Reign of Ashoka
B. Accession of Chandragupta Maurya
C. Invasion of Alexannder of Macedon
D. End of Mauryan Empire
E. Rulers of Magadha consolidate power
Choose the correct answer from the options given below

1.EC B AD
2ABCDE
3.ECB DA
4ECADE



Fafciad i SrenHTaR aRyd B ;
A, I B @

B. TS AIY &I UgRIgY

C. g & [Hdc Bl HPH

D. 51 TR @1 3d

£, TTY & IMTH] GRI1 Gl &1 g1yl

i 4T 1T faesed| | 4 We] ST o 944 DIl ;

1.E.C, B A D
2ABCD0E
3.ECBDA
4ECADE

[Question ID = 10196][Question Description = 178_6_HIS_0CT22_S2_Q78]
1. 1 [Option ID = 10781]
2. 2 [Option ID = 10782]
3. 3 [Option ID = 10783]
4. 4 [Option ID = 10784]

79)  Arrange the following in a chronological manner

A. Colin Mackanzie collects -over ‘8,000 inscriptions in Sanskrit and Dravidian
language

B. Decipherment of Ashokan Brahmi by James Princep

C. Alexander Cunningham publishes a set of Ashokan inscriptions

D. First issue of Epigraphia Carnatica, a journal of South Indian inscriptions
E. First issue of Epigraphia Indica

Choose the correct answer from the options given below

1.B.ADCE
2BACDE
3.ABCDE
4 A B CED



feftiad @ SrodaraR caafd Bifag:
A, Sifer Sdoll § G%bd 3R ids Hrgrsll H s000 T Sifie kg uHs B

B. 5T TR0 g1 32 ®1el i STall @] fame

C. g S BITH GR1 W@ RIamchdl & Jgd e &1 HeRH

D. &0 HRe fRreierd! & - WOiEa) SAlleeT Bl Uew 3id
E, Ui 3TEar & Ugal 3iF

14 fau U fasedl | & W6l 3ok o1 94 Sl ;

1.B,A D CE
2B ACDE
3.ABCDE
4 ABCED

[Question ID = 10197][Question Description = 179_6_HIS_0CT22_S2_Q79]
1. 1 [Option ID = 10785]
2. 2 [Option ID = 10786]
3. 3 [Option ID = 10787]
4. 4 [Option ID = 10788]

80) Pick the right sequence as per chronological erder in terms of visit of the following
foreign travellers in India

A. Marco Polo:

B. Duarte Barbosa

C. Nikitin

D, Peter Munay

E. Francois Bemier

Choose the correct answer from the options given below

1.ABCED
2ADBCE
3.ACDEE
4 A CEDE



Fafarad faesl aiEal & HRd SR & SIEHER Sal 3F5 51 HT
A, Hi®1 Uil

B, G0 aRE™

GNCIGARE]

D. HieX Hal

E hoigd aHa%

i oT e fasedl | 9 981 97 1 99 Sl ;

1.ABCED
2ADBCE
3.ACDEE
4 A CEDE

[Question ID = 10198][Question Description = 180_6_HIS_0OCT22_S2_Q80]
1. 1 [Option ID = 10789]
2. 2 [Option ID = 10790]
3. 3 [Option ID = 10791]
4. 4 [Option ID = 10792]

81) Pick the correct sequence of the following historical masnavis in relation to the
reign of respective Delhi Sultans,

A, Dewal Rani Khizr Khan

B. Qiran us-Sa‘'dain

C. Tughlagnama

D, Miftah-ul-Futuh

E. Nuh Siphr

Choose the correct answer from the options given below

B, ADEC
B, E D A C
B, DA EC
OB ACGE

S M W I



fEeel Gearl & S @19 & 99y & Mefaigd Uaelas 99194l & 98l @Y @
EELE
A, Caq H! agEH

B, fbrgs Wi

C. Fa®AE

D. FRiE @ e

E I8 A&

i 74U 1T faded| | 4 He] ST o 944 Sl ;

B A D, EC
B, ED A C
B, DA EC
DB ACGE

B S % N R

[Question ID = 10199][Question Description = 181_6_HIS_0CT22_S2_Q81]
1. 1 [Option ID = 10793]
2. 2 [Option ID = 10794]
3. 3 [Option ID = 10795]
4. 4 [Option ID = 10796]

82) Arrange the following in a chronological order
A, Man Singh's conguest in Bihar
B. Meeting of Jai Singh with Shivaji
C. Meeting of Raja Bihar Mal with Akbar
D, Accession of Jai Singh in Kachhawas
E. Man Singh's campaign against the Yusufzai clan
Choose the correct answer from the options given below

1.ADCEEB
2ABDCE
3.C,EADE
4ECDAE



Fafciad i SrenHTaR aRyd B ;
A, B e @1 f4eR [dwg

B, Y g @1 Riarell 9 e

C. U= [T B #Hdar He

D. TS1E1 T Sais o1 SR

E QPSS $0 & [a%G HHRe @l g
i fgu TTu fashed| | & 98] Soe @1 994 DI ;

1.ADCEEB

2ABDCE

3.C,EADEB

4 ECDAE
[Question ID = 10200][Question Description = 182_6_HIS_0OCT22_S2_Q82]
1. 1 [Option ID = 10797]
2. 2 [Option ID = 10798]

3. 3 [Option ID = 10799]
4. 4 [Option ID = 10800]

83) Arrange the following events chronelogically starting from the earliest
A, Bombay Presidency Association formed
B. Indian National Social Conference formed in Bombay
C. The Indian National Conference held its-first session at Calcutta
D. The Mahajana Sabha founded at Madras:

E. llbert Bill controversy highlighted racial discrimination in the dispensation of
justice in British India
Choose the correct answer from the options given below
1.0,E B A C
2ADBCE

3.8 CDEA
4. CEDAEB



FrafeRad 92meil & GauyH 9 I& o1 SaaAg TR 0a1d S :
A, gidl UTSTS41 THIReT 17787

B. a3 o S[SUT JYHd AI9e BihE $1 /I

C. 31T 44T BhY & Yo HUYH @ somdl H e

D. FETE H HETeA GHT @1 ST

E. 3ead 1991 fqarg 1 Riew yRa & =g oiaw & A% HeHg B S9FR e
i 4T 1T faesed| | 4 We] ST o 944 DIl ;

1.0,EB A C
2ADBCE
3.B, D EA
4 CEDAE

[Question ID = 10201][Question Description = 183_6_HIS_0CT22_S2_Q83]
1. 1 [Option ID = 10801]
2. 2 [Option ID = 10802]
3. 3 [Option ID = 10803]
4. 4 [Option ID = 10804]

84) Arrange the following events chronologically starting from the earliest
A, Supreme Court established
B. House of Commeons’ resolution against Warren Hastings
C. Sanyasi and fagir bands:begin incursions
D, Clive succeeded by Hamy Verelst
E. The Bengal famine
Choose the correct answer from the options given below

ABCDE
B CCAED
ECADE
D ECAEB

fFrafaiad geHTal o GauE § I& PR BIpHIER oaied Siiv ;
A. TG IRITed S RO

W -

B. AN T @ (995 Sl H S5 &1H-g & U&d
D. 154 & 91 o4l adeee @l ATHEA

AU EAT

e fGu ¢ fased| | § Hg1 SR 91 94 S ;

ABCDE
B A ED
ECADE
OECAE

B S 6 T L T



[Question ID = 10202][Question Description = 184_6_HIS_0CT22_S2_Q84]
1. 1 [Option ID = 10805]
2. 2 [Option ID = 10806]
3. 3 [Option ID = 10807]
4. 4 [Option ID = 10808]

85) Arrange the following events chronologically starting from the earliest
A, Thie Cabinet Mission plan
B. Wavell's plan
C. Attlee’s announcement
D, Mountbatten's plan
E. Cripps proposal
Choose the correct answer from the options given below

1.B,ACED
2EBACD
3.AD.EBC
4 A CEED

FraTeRE SewTel ®f GauyH Ue] Uea] § IF BT DIHHaR ouaieyd S ;
A. Bie-e AeF @H

B. 9d0 ©H

C. Gewil $i Jeuyun

D. Hideaed &

E. [ weare

i fau TT¢ fasedl | 9 U8l 3Tk @1 907 S ;

1.B,ACED
2ZEBACD
3.AD,EBC
4 A CEBD

[Question ID = 10203][Question Description = 185_6_HIS_0OCT22_S2_Q85]
1. 1 [Option ID = 10809]
2. 2 [Option ID = 10810]
3. 3 [Option ID = 10811]
4. 4 [Option ID = 10812]



86) Given below are tweo statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A: Raja Ram Mohun Rai rejected Christianity and denied the divinity of
Jesus Christ

Reason R: Raja Ram Mohun Rai wrote the Precepts of lesus, published in 1820

In-light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are carrect and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not carrect

4. A is not correct but R is correct

Id &l Ty BT T € ;. 0F AU (Assertion A) & ¥ 1 T4 & 9l 30U 399
@R (Reason R) aﬁﬂﬂ

AUHUT A - T IH Hi57 99 5 59 ¥4 & i@ 91 a1 3R S5 949E & ood
@] Wed gl

SRR ; T IH Higd I3 A 1820 F UK 391 A9 & Hifaagq (g e
Sioy) for|
I YA & HE® J Fied el H 4 el IR &1 949 DI ;

1.4 3R RGHI T8I & 3R R, AT 9g! A=A 8

2.A IR REHFI U861 € UTA R, A 1 Tel e A6l &

3.A Wel & g R W8l el ¢
4.5 Wel el s WO R Tl B

[Question ID = 10204][Question Description = 186_6_HIS_0OCT22_S2_Q86]
1.1

[Option ID = 10813]
2.2

[Option ID = 10814]
3.3

[Option ID = 10815]
4. 4

[Option ID = 10816]



87)

Given below are two statemenis, one is labelled as Assertion A and the other

is labelled as Reason R

Assertion A : Shaikh Ahmad Sirhindi rued in ithbar al-Nubuwwah about the decline
of interest towards Islam among the people in India

Reason R : Time gap between the prophetic period, science of Philosophy and study
of Indian sages were considered reasons for the decline of interest towards Islam

among people of India

In light of the above statements; choose the correct answer from the options given

below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but Ris true

Jd &l Py GE T € ; U@ ANDHYA (Assertion A) T ©U H IEd & dl GO 39D
@Rl (Reason R) aﬁ?ﬁqﬁ,

@Y A ; TRd 3fEH Wieal - YA $ a9 s & Uld S #H EH @ s A
S@dl -0-Ha-Ja1a1 § YN Hiigy i |

TN R : YRAM & 81g 309 & Uid 319 B4 84 ® 98 H a8 $I0, g-98d &
39 IR UReE g0l & 30 & 919 & 990 oV @1 593 &RY 99 T4 8 |

Iulad YA & Heie & Fgifed e H 3 98 IR &1 909 Bife .

2

1.A AR RGHI T8l g AR R, ADI G| ARAT 8|
A 3 R GHI O8] € R R, A B Uel AR 76l o

3.A U8 & 934 R el el 8l
4. A 98I 8l g UTI R U8l 6l

[Question ID = 10205][Question Description = 187_6_HIS_0OCT22_S2_Q87]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]
4. 4 [Option ID = 10820]

88)

Given below are two statementis, one is labelled as Assertion A and the other

is{abelled as Reason R

Assertion A : The success of Malik Kafur in South India introduced Islamic politics in

the region

Reason R : Movement of Sufism inte South India became one of the prime reasons
for conversion of local population into Islam

In light of the above statements; choose the correct answer from the options given

below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but Ris true



Jd &l FY= L U € ; U HHBYA (Assertion A) T ©U H [IREd & dl gEU 39D
@R (Reason R) %'ﬁ?ﬁqﬂ,

AT A ; SHT YR ¥ 9fe® St @ 9wadl 4 39 83 § 3T aeHid @i
AT B

®RU R : &0 R o YHidis $1 90 RHE a6 & gy 95 uAH 31 Ue
TR TR & T

SULET DYA| P TP H FEliod fadmedl H 4 Gel GoR & a4 DI ;

1.A SR RGHI G818 SR R, A DI Ga| A 5

2.A SR RGFIGEl € W= R, A ®I Tel A 76l 5
3.A el o IR UGS 6l ol

4, AR 6l § W REEI &

[Question ID = 10206][Question Description = 188_6_HIS_0OCT22_S2_Q88]
1. 1 [Option ID = 10821]
2. 2 [Option ID = 10822]
3. 3 [Option ID = 10823]
4. 4 [Option ID = 10824]

89) Given below are two statements
Statement |: Akbar proclaimed Mahzar in 1579

Statement lI: Matrimonial alliance with Rajputs influenced the religious attitude of
Akbar

In light of the above statements, choose the most appropriate answer from the
options given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
. Statement | is correct but Statement || is incorrect

45 WM =

. Statement | is incorrect but Statement || is carrect

dra gl e Ru e g

@Y - | : APE - 1579 H GO ) 990 B

BY - 1) Sl & WY JalfeP HeYl  paR b Y AWy Bl wHTad i
SUUT DY & SE® J Fgiied [decdl H 3 gl 3R @1 999 DIl ;

1.9 | R | GF TRl gl
2. @Y | IR 1 §E TEa 8
3. @Y1 90 ¢, feg @y 1 Tad 6 |
4, YT | HEA B, g &9 1| 981 &

[Question ID = 10207][Question Description = 189_6_HIS_0OCT22_S2_Q89]
1. 1 [Option ID = 10825]
2. 2 [Option ID = 10826]
3. 3 [Option ID = 10827]
4. 4 [Option ID = 10828]



90) Given below are two statements
Statement I: Mahabharata's Bhishma Parva mientions the invasion of the Hunas

Statement II: Skandagupta's lumagarh Inscription mentions about the Huna
invasion during the Gupta period

In light of the above statements; choose the correct answer from the options given

below

1. Both Statement | and Statemernit |l are true
2. Both Statement | and Statemenit |l are false
3. Statemeant | is true but Statement |l is-false
4, Statement | s false but Statement |l is true

TasEE U
WY | AeTHRa & HIeT 0d 3 g0l & 1A & Jeaid (Hadl ol

HY || ;: Tl & AT HfHeE T [idle & aleE gUll o STEHHD Bl Jooig el
gl
e BYA] & S o FHifed faeedl § U W8l I 2 ;

1.3 | AR 1 GHI ST 8l
2, YT | AR 11 T 2EE &
3, YA | G T, Tfoo ®YA || 3T &
4, YA | HEA &, e 349 1| §H &

[Question ID = 10208][Question Description = 190_6_HIS_0CT22_S2_Q90]
1. 1 [Option ID = 10829]
2. 2 [Option ID = 10830]
3. 3 [Option ID = 10831]
4. 4 [Option ID = 10832]

Topic:- 06_SH1_PART_B_SET2



1)

Read the passage carefully and answer the questions that follows

The Indian monotheisists call the Vision of God, Sachatkar, that is; to see God with
the (ordinary) eyes ef the forehead. Know that-the Visien of God, either by the
Prophets, may peace be on them, ar by the perfect divines, may their souls be
sanctified, whether inthis or the next world and whether with the cuter or the inner
eyes, cannot be doubted or disputed; and the "men of the Buok” (ghl-i-kitah), the
perfect divines and the seers of all religions- whether they are believers in the
Kur'an, the Vedas, the Book of David or the Old and the New Testaments - have a
(commion) faith in this respect. Now, one whe disbelieves the beholding of God is a
thoughtless and sightless: member of his community, the reason being; if the Holy
self is Omnipotent, hew can He not have the potency to menifest Himself? This
miatter has been explained very clearly by the ‘Ulama of the Sunni Sect.

But, if it is said that (even) the Pure Self (dhat-i-baht) can be beheld, it is an
impossiblity; for the Pure Self is elegant and undetermined, and, as He cannot be
determined, He is manifest in the veil of elegance only, and as such cannet be
beheld, and such beholding is an impossibility.

And the suggestion that he can be beheld in the next and not in this werld, is
groundless, for if He is Omnipotent, He is potent to manifest Himself in any manner,
anywhere, and at any time He likes, (| hold) that one cannot behold Him here (i.e. in
this world) will hardly behiold Him there (i.e. inthe next world); as He has said in the
Holy verse: "And whoever is blind In this, he shall (also) be blind in the hereafter.”

The Mutazila and the Shi'a doctors, who are opposed to ruyai (Beholding), have
committed a great blunder in this matter, for had they only denied the capability of
beholding the Pure Self, there would have been some justification, but their denial
of all forms of ruyai (i.e. Beholding) is a great mistake,

The author believed that beholding of the divine can be manifested, in all,
except one form

1. In dreams

2. In human form
3. Pure Self

4. Divine sight



FrafafEa T ot FeuryEe ufee ot IuE T ust ¥ I divw

YRS THHAAE] 35 O [aodas- @I HIET@R ®8d & H4iq 33 @] 39 Ad @i
(EIH) STl | ST T8 T4 18 (& 4% &1 faad oui-, 918 Jiiad gl g, 35 9%
Tifa & siyar oo oo 5T 347 Sa Sieel &1 ufea @1, e 39 o=l § 91 STl
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@1 T (GHH) AR 5| € S 3541 @I UH W [a4¥ Tl &, 98 U4 SHed @
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35+ gg ¥ 48l § & 98 WY @] Use &1 39 [I99 @l 43| Yua™ & 3ol gRl
3it® WP &Y § 9d191 7141 | U] dic 98 @el dldl & [ UIHudl (did-U-gg) @l
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i =1 [ 51 T@al &, 98 oad USSR & TG0 5 ol Uoe §, 3N 3908 349
UTGT A1 o Uebdl & AR UH 3 Ul 4G §1 3R U 4G, fob 9 - el gl
T S Gl B, 59 o § A8, AYREH & g4l gfe 98 9avieair ¢, o 99H 98
Ifga & b a5 w4 @ fhdl i e 9, Tel i 3K [l off 909 use &) (@9 ¥R
&) & o1 9% =gt (onfa g4 g ) =8 w1 g@ar &, 9t (sl ol ghar |) 39
e ¥ & o S 3 ufe smd H el g, W Tet ePEF 8 se sEe R
(+fl) efpE g1 e

feren SR R 5@ = 39 U (¥0T) & (901 §, 3 59 A @ 0P 991 4E R
& Fffe oFR 9 99 UeHitar & U & g § € SOR har e, o e il $9
ey o, ©ifee o (3rufa 38 u) & 94l =01 &) T6RA1 U 92l Tadl o
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1.9 4

2. g9 ® 0 H
ERIELs oSG ey
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[Question ID = 10214][Question Description = 191_6_HIS_0CT22_S2_Q91]
1. 1 [Option ID = 10853]
2. 2 [Option ID = 10854]
3. 3 [Option ID = 10855]
4. 4 [Option ID = 10856]



2)

Read the passage carefully and answer the questions that follows

The Indian monotheisists call the Vision of God, Sachatkar, that is; to see God with
the (ordinary) eyes ef the forehead. Know that-the Visien of God, either by the
Praphets, may peace be on them, or by the perfect divines, may their souls be
sanctified, whether inthis or the next world and whether with the cuter or the inner
eyes, cannot be doubted or disputed; and the "men of the Buok” (ghl-i-kitah), the
perfect divines and the seers of all religions- whether they are believers in the
Kur'an, the Vedas, the Book of David or the Old and the New Testaments - have a
(commion) faith in this respect. Now, one whe disbelieves the beholding of God is a
thoughtless and sightless: member of his community, the reason being; if the Holy
self is Omnipotent, hew can He not have the potency to menifest Himself? This
matter has been explained very clearly by the 'Ulama of the Sunni Sect,

But, if it is said that (even) the Pure Self (dhat-i-baht) can be beheld, it is an
impaossiblity; for the Pure Self is elegant and undetermined, and, as He cannot be
determined, He is manifest in the veil of elegance anly, and as such cannet be
beheld, and such beholding is an impossibility.

And the suggestion that he can be beheld in the next and not in this werld, is
groundless, for if He is Omnipotent, He is potent to manifest Himself in any manner,
anywhere, and at any time He'likes, (| hold) that cne cannot behold Him here (i.e. in
this world) will hardly behold Him there (i.e. in the next world); as He has said in the
Holy varse: "And whoever is blind in this, he shall (aiso) be blind in the hereafter.”

The Mu'tazila and the Shi'a doctors, who are opposed to ruyai (Beholding), have
committed a great blunder in this matter, for had they anly denied the capability of
beholding the Pure Self, there would have been some justification, but thair denial
of all forms of ruyai (i.e. Beholding) is a great mistake,

The potency of God is highlighted for his capabllity to

1. Maintaining elegance
2. Salvation

3, Manltestation

4. Remain hidden



FrafifEa T #t FeuryEe e ot IuEF a1 ust ¥ I div
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[Question ID = 10215][Question Description = 192_6_HIS_0OCT22_S2_Q92]
1. 1 [Option ID = 10857]
2. 2 [Option ID = 10858]
3. 3 [Option ID = 10859]
4. 4 [Option ID = 10860]



3)

Read the passage carefully and answer the questions that follows

The Indian monotheisists call the Vision of God, Sachatkar. that is; to see God with
the (erdinary) eyes ef the forehead. Know that the Vision of God, either by the
Prophets, may peace be on them, or by the perfect divines, may their souls be
sanctified, whether inthis or the next world and whether with the cuter or the inner
eyes, cannot be doubted or disputed; and the "men of the Buok” (ghl-i-kitah), the
perfect divines and the seers of all religions- whether they are believers in the
Kur'an, the Vedas, the Book of David or the Old and the New Testaments - have a
(common) faith in this' respect. Now, one whe disbelieves the beholding of God is a
thoughtless and sightless: member of his community, the reason being: if the Holy
self is Omnipotent, hew can He not have the potency to menifest Himself? This
matter has been explained very clearly by the 'Ulama of the Sunni Sect.

But, if it is said that (even) the Pure Self (dhat-i-baht) can be beheld, it is an
impossiblity; for the Pure Self is elegant and undetermined, and, as He tannot be
determined, He is manifest in the veil of elegance anly, and as such cannet be
beheld, and such beholding is an impossibility.

And the suggestion that he can be beheld in the next and not in this world, is
groundless, for if He is Ompnipotent, He is potent to manifest Himself in any manner,
anywhere, and at any time He'likes, (| hold) that one cannot behold Him here (i.e. in
this world) will hardly behold Him there (i.e. in the next world); as He has said in the
Holy varse: "And whoever is blind in this, he shall (aiso) be blind in the hereafter.”

The Mu'tazila and the Shi'a doctors, who are opposed to ruyai (Beholding), have
committed a great blunder in this matter, for had they only denied the capability of
behalding the Pure Self, there would have been some justification, but their denial
of all forms of ruyai (i.e. Beholding) is a great mistake,

The paragraph indulges in the debates concerning:

1. the idea of Ged:

2. the vision of Gad in Hinduism

3. the Islamic rejection towards the vision of God
4, the condemnation of Mutazilas and Shias
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[Question ID = 10216][Question Description = 193_6_HIS_0OCT22_S2_Q93]
1. 1 [Option ID = 10861]
2. 2 [Option ID = 10862]
3. 3 [Option ID = 10863]
4. 4 [Option ID = 10864]



4)

Read the passage carefully and answer the questions that follows

The Indian monotheisists call the Vision of God, Sachatkar, that is; to see God with
the (ordinary) eyes ef the forehead. Know that-the Visien of God, either by the
Praphets, may peace be on them, or by the perfect divines, may their souls be
sanctified, whether inthis or the next world and whether with the cuter or the inner
eyes, cannot be doubted or disputed; and the "men of the Buok” (ghl-i-kitah), the
perfect divines and the seers of all religions- whether they are believers in the
Kur'an, the Vedas, the Book of David or the Old and the New Testaments - have a
(commion) faith in this respect. Now, one whe disbelieves the beholding of God is a
thoughtless and sightless: member of his community, the reason being; if the Holy
self is Omnipotent, hew can He not have the potency to menifest Himself? This
matter has been explained very clearly by the 'Ulama of the Sunni Sect,

But, if it is said that (even) the Pure Self (dhat-i-baht) can be beheld, it is an
impaossiblity; for the Pure Self is elegant and undetermined, and, as He cannot be
determined, He is manifest in the veil of elegance anly, and as such cannet be
beheld, and such beholding is an impossibility.

And the suggestion that he can be beheld in the next and not in this werld, is
groundless, for if He is Omnipotent, He is potent to manifest Himself in any manner,
anywhere, and at any time He'likes, (| hold) that cne cannot behold Him here (i.e. in
this world) will hardly behold Him there (i.e. in the next world); as He has said in the
Holy varse: "And whoever is blind in this, he shall (aiso) be blind in the hereafter.”

The Mu'tazila and the Shi'a doctors, who are opposed to ruyai (Beholding), have
committed a great blunder in this matter, for had they anly denied the capability of
beholding the Pure Self, there would have been some justification, but thair denial
of all forms of ruyai (i.e. Beholding) is a great mistake,

"Behelding’ of the Divine is refuted by which of the following?

1. Men of the Book (3hl-i-Kitab)

2. Followers of the Vedas

3. Shias

4. Followers of the Old and the New Testaments



FrafifEa T $t FEuHyEe T o IHF a1 ust % I diee
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@1 T (GHH) AR 5| € S 3541 @I UH W [a4¥ Tl &, 98 U4 SHed @
@ faarey R =P vew B &R I § 9ft 9 Wi gauieanH &, of &d
35+ gg ¥ 48l § & 98 WY @] Use &1 39 [I99 @l 43| Yua™ & 3ol gRl
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[Question ID = 10217][Question Description = 194_6_HIS_OCT22_S2_Q94]
1. 1 [Option ID = 10865]
2. 2 [Option ID = 10866]
3. 3 [Option ID = 10867]
4. 4 [Option ID = 10868]



5)

Read the passage carefully and answer the questions that follows

The Indian monotheisists call the Vision of God, Sachatkar, that is; to see God with
the (ordinary) eyes ef the forehead. Know that-the Visien of God, either by the
Praphets, may peace be on them, or by the perfect divines, may their souls be
sanctified, whether inthis or the next world and whether with the cuter or the inner
eyes, cannot be doubted or disputed; and the "men of the Buok” (ghl-i-kitah), the
perfect divines and the seers of all religions- whether they are believers in the
Kur'an, the Vedas, the Book of David or the Old and the New Testaments - have a
(commion) faith in this respect. Now, one whe disbelieves the beholding of God is a
thoughtless and sightless: member of his community, the reason being; if the Holy
self is Omnipotent, hew can He not have the potency to menifest Himself? This
matter has been explained very clearly by the 'Ulama of the Sunni Sect,

But, if it is said that (even) the Pure Self (dhat-i-baht) can be beheld, it is an
impaossiblity; for the Pure Self is elegant and undetermined, and, as He cannot be
determined, He is manifest in the veil of elegance anly, and as such cannet be
beheld, and such beholding is an impossibility.

And the suggestion that he can be beheld in the next and not in this werld, is
groundless, for if He is Omnipotent, He is potent to manifest Himself in any manner,
anywhere, and at any time He'likes, (| hold) that cne cannot behold Him here (i.e. in
this world) will hardly behold Him there (i.e. in the next world); as He has said in the
Holy varse: "And whoever is blind in this, he shall (aiso) be blind in the hereafter.”

The Mu'tazila and the Shi'a doctors, who are opposed to ruyai (Beholding), have
committed a great blunder in this matter, for had they anly denied the capability of
beholding the Pure Self, there would have been some justification, but thair denial
of all forms of ruyai (i.e. Beholding) is a great mistake,

The auther faveours the idea that

1. God can be beheld only in the next werld

2. God can be beheld bath in this world and the next world

3. God cannot be beheld in this world

4.God can neither be beheld in this world ner in the next world



FrafafEa T ot FeuryEe ufee ot IuE T ust ¥ I divw
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[Question ID = 10218][Question Description = 195_6_HIS_OCT22_S2_Q95]
1. 1 [Option ID = 10869]
2. 2 [Option ID = 10870]
3. 3 [Option ID = 10871]
4. 4 [Option ID = 10872]

Topic:- 06_SH1_PART_C_SET2



1)

Read the passage and answer the questions that follows

"We who came from the East have sat here on the platform day after day and have
been told in a patronising way that we cught to accept Christianity because
Christian nations are the most prosperous. We look about us and we see England,
the most prosperous Christian nation in the world, with her foot on the neck of
250,000,000 Asiatics, We look back into histery and see that the prosperity of
Christian Europe began with Spain. Spain's prosperity began with the invasion of
Mexico. Christianity wins its prosperity by cutting the throats of its fellowmen, At
such a price, the Hindu will not have prosperity. | have sat here today and | have

heard the hight of intolerance.”

The said statements were delivered on the cccasion of:

1. 350 years of the Discovery of America
2. 400 years of the Discovery of America
3. 450 years of the Discovery of Mexico
4. 400 years of the Discovery of Mexico

frrafeiad Tam S STauEE® Ufey o 39S a1¢ o 7T Ual & Iwy S :
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TAEITAT S 5 54 S0 U4 B WioR ©1 o 9ife 4 ie SOk o 9any® 9 ol
B 304 Y UTE oWd & SR g & Tailte 99 Sa1 3, 3908 & oud § o
250,000,000 TRMET IE @ TRed R X IW I S8l 5| BAS e H nle P aEd &
% SU1S I $1 T T & 91 IE g3 U1 | T @1 Gl Aees] ) TmHu &
1y Y §2 11 S8 4 T ST Sii-wnfimt % e @1e o1 9l sl & 8| B
59 @ [Hd U HEIAd] el ol | 319 H g8l 981 § AR 5+ 9aiU® JgiewE ®f ad gl
gl

UE go0e] FEaiea § O iy g W armr un
1. 3F3IET &1 @iel & 350 39
2, AEET P WIS & 400 TH
3, Afo® HTEw & 450 a9
4, Hio0®| B G o 400 T4

[Question ID = 10219][Question Description = 196_6_HIS_0OCT22_S2_Q96]
1. 1 [Option ID = 10873]
2. 2 [Option ID = 10874]
3. 3 [Option ID = 10875]
4. 4 [Option ID = 10876]



2)
Read the passage and answer the questions that follows

"We who came from the East have sat here on the platform day after day and have
been told in a patronising way that we cught to accept Christianity because
Christian nations are the most prosperous. We look about us and we see England,
the most prosperous Christian nation in the world, with her foot on the neck of
250,000,000 Asiatics, We look back into histery and see that the prosperity of
Christian Europe began with Spain. Spain's prosperity began with the invasion of
Mexico. Christianity wins its prosperity by cutting the throats of its fellowmen, At
such a price, the Hindu will not have prosperity. | have sat here today and | have
heard the hight of intolerance.”

The mentioned statement was a part of

1. Thesis on Philosophy
2. Paper on Vedanta

3. Thesis on Humanism
4. Paper on Hinduism

frafalEd Mo &1 FeuTIgES et o IHE 918 T ¢ WAl & ST aiwe :

B9 IXE § 1T O W 39 U 0 AR 98 8¢ &, 64 o8 W 3 B4 & e o
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[Question ID = 10220][Question Description = 197_6_HIS_0OCT22_S2_Q97]
1. 1 [Option ID = 10877]
2. 2 [Option ID = 10878]
3. 3 [Option ID = 10879]
4. 4 [Option ID = 10880]



3)
Read the passage and answer the questions that follows

"We who came from the East have sat here on the platform day after day and have
been told in a patronising way that we cught to accept Christianity because
Christian nations are the most prosperous. We look about us and we see England,
the most prosperous Christian nation in the world, with her foot on the neck of
250,000,000 Asiatics, We look back into histery and see that the prosperity of
Christian Europe began with Spain. Spain's prosperity began with the invasion of
Mexico. Christianity wins its prosperity by cutting the throats of its fellowmen, At
such a price, the Hindu will not have prosperity. | have sat here today and | have
heard the hight of intolerance.”

The mentioned statement has been cited by

1. D D, Kosambi
2. R. €. Majumdar
3. M. G. Ranade
4 lala Lajpat Rai

frafalEd Mo &1 FeuTIgES et o IHE 918 T ¢ WAl & ST aiwe :
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[Question ID = 10221][Question Description = 198_6_HIS_0OCT22_S2_Q98]
1. 1 [Option ID = 10881]
2. 2 [Option ID = 10882]
3. 3 [Option ID = 10883]
4. 4 [Option ID = 10884]



4)
Read the passage and answer the questions that follows

"We who came from the East have sat here on the platform day after day and have
been told in a patronising way that we cught to accept Christianity because
Christian nations are the most prosperous. We look about us and we see England,
the most prosperous Christian nation in the world, with her foot on the neck of
250,000,000 Asiatics, We look back into histery and see that the prosperity of
Christian Europe began with Spain. Spain's prosperity began with the invasion of
Mexico. Christianity wins its prosperity by cutting the throats of its fellowmen, At
such a price, the Hindu will not have prosperity. | have sat here today and | have
heard the hight of intolerance.”

Whao made this statement?
1. Debendranath Tagore
2. Dayananda Sarasvati
3. Swami Vivekananda
4. Ramakrishna Paramhamsa

frrafeiad Tam S STeuEgE® UfeT oY 39S a1e o 7T Ual & Iuy S :
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[Question ID = 10222][Question Description = 199_6_HIS_0OCT22_S2_Q99]
1. 1 [Option ID = 10885]
2. 2 [Option ID = 10886]
3. 3 [Option ID = 10887]
4. 4 [Option ID = 10888]



5)

Read the passage and answer the questions that follows

"We who came from the East have sat here on the platform day after day and have
been told in a patronising way that we cught to accept Christianity because
Christian nations are the most prosperous. We look about us and we see England,
the most prosperous Christian nation in the world, with her foot on the neck of
250,000,000 Asiatics, We look back into histery and see that the prosperity of
Christian Europe began with Spain. Spain's prosperity began with the invasion of
Mexico. Christianity wins its prosperity by cutting the throats of its fellowmen, At
such a price, the Hindu will not have prosperity. | have sat here today and | have

heard the hight of intolerance.”

The statement is nat recorded in the proceedings but it was published in the

1. Chicago Daily Tribune
2. New York Times

3. Telegraph

4.The Times

frafalEd Mo &1 FeuTIgES et o IHE 918 T ¢ WAl & ST aiwe :
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[Question ID = 10223][Question Description = 200_6_HIS_0OCT22_S2_Q100]
1. 1 [Option ID = 10889]
2. 2 [Option ID = 10890]
3. 3 [Option ID = 10891]
4. 4 [Option ID = 10892]

Topic:- 13_GP_SH1_Set2_A



1) The following table shows the percentage (36) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B68%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

Adult population of City C is

1. 67452
2. 68264
3. 66266
4. 69268

fefertaa arferar § @8 983 A-F il Fiel SSTEEAT [Aqe0 H1 9ia9d (%) A<
ITH A STTHEAT i G99 (%) TOET AT 2 | A STET hT HeT SITHEAT 257400
2 TR § STET % A G @ 9 d Ti W51 % ST Al

UEY-ar SHET fadeo
e (SO TR (56) |(%) 90N
FiY 23.4% 77 %
B [21.6% 63%
C |184% 73%
D [189% 75%
E [17.5% 59%
F 10.2% 72%
C WEd ] 99%p waEd] [hadl & 2

1.67452
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4.69268

[Question ID = 10224][Question Description = 101_0_GP20_SEP22_S2_QO01]
1. 1 [Option ID = 10893]
2. 2 [Option ID = 10894]
3. 3 [Option ID = 10895]
4. 4 [Option ID = 10896]



2) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B68%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

Population of City A as a percentage of population of City D is, approximately:

1.118%
2. 124%
3. 125%
4 127%

Frerferfaa arfersr T @g 98l A =l Fel SITHEAT [ &1 Afaead ( %) 3w
3TH oHEE SHEAT T A9 ( %) SOTAT AT 8 | A 9T 1 o7 ATHEAT 257400
21 ATTerHT H ST % ATETL 9L = iea uisl 951 % I &g

-GN SHEET faaT

TET [ E faaU (%) (%) 995D
A [234% 77 %

B [21.6% 68%

C [84% 73%

D [18.9% 75%
E[17.5% 69%
Foo|10.2% 72%

A TE D FEE D Vel @) e & Uyt o Hiagd 8 7

1:118%
2.124%
3:125%
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[Question ID = 10225][Question Description = 102_0_GP20_SEP22_S2_Q02]
1. 1 [Option ID = 10897]
2. 2 [Option ID = 10898]
3. 3 [Option ID = 10899]
4. 4 [Option ID = 10900]



3) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B68%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

MNen-adult population of City F is

1.33448
2.32040
3.30162
4.31416

Ferferf arfersr 8 @y g9 A-F T el SITaeAT (4w w1 9iaerd (%) #e
ITH BHEE STAEAT I A9 ( %) TIATITATE | A 92 3hi o7 STTAEAT 257400
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TEd-aR S faaeun

R[E [ fGaiu (96) |(%) 9O
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[Question ID = 10226][Question Description = 103_0_GP20_SEP22_S2_Q03]
1. 1 [Option ID = 10901]
2. 2 [Option ID = 10902]
3. 3 [Option ID = 10903]
4. 4 [Option ID = 10904]



4) The following table shows the percentage (36) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B |21.6% B8%
C [84% 73%
b |18.9% 75%
E |17.5% 59%
F|10.2% 72%

Adult population of City B and City C together as a percentage of the population of all six cities together
is, approximately

1. 18%
2.21%
3.25%
4. 27%

Fefeii arfersr 4 2y g9 A-F T el SITaeAT (4w 1 qiaerd (%) #e
ITH TR STAEAT HI A9 ( %) TOTATITATE | A 9TZ 3hi o7 STAEAT 257400
21 ATTerET H§ STl & A4 9 aFE9a 9= 951 F ITL Aoy

WEL-AR FYE [gaor

Red (Sl faa (%) |(%) aEED
A [234% 77 %

B [21.6% 68%

C [84% 73%

D [18.9% 75%

E [175% 69%
Fool10.2% 72%

B YEY 3R C 6T B Do 95 oHae GH B8 31 B $9 oEs B TH fehae Hiawi & 2

1. 18%
2.21%
3.25%
4, 27%

[Question ID = 10227][Question Description = 104_0_GP20_SEP22_S2_Q04]
1. 1 [Option ID = 10905]
2. 2 [Option ID = 10906]
3. 3 [Option ID = 10907]
4. 4 [Option ID = 10908]



5) The following table shows the percentage (%) distribution of the total population of six cities A-F and
percentage (%) of adult population among them. The population of city A is 257400,

City-Wise Distribution of Population

City|(%) Distribution of Population |(%) Adult
A |23.4% 77 %
B j21.6% 68%
C |84% 73%
b |18.9% 75%
E |17.5% b69%
F o [10.2% 72%
Population of City D is approximately _____ more than the population of City E.
1.8%
2.10%
3.14%
4.16%

ferfertas arfersr § @8 983 A-F il Fiel STaeAT [Aqe &1 9iaed (%) 3T
ITH A STTHEAT i G99 (%) TOET AT 2 | A STET hT HeT SITHEAT 257400
2 TR § STET % A G @ 9 d Ti W51 % ST Al

TET-ar wHEE [gawm

X [T Ol (%) |(%) 30
A [23.4% 77 %

B |216% 65%

C |B4% 73%

D [189% 75%
E[175% 69%

F o [102% 72%

D I8 B SHUE] E IR &) oue ¥ T o) i@ g 2

1.8%
2.10%
3. 14%
4.16%

[Question ID = 10228][Question Description = 105_0_GP20_SEP22_S2_Q05]
1. 1 [Option ID = 10909]
2. 2 [Option ID = 10910]
3. 3 [Option ID = 10911]
4. 4 [Option ID = 10912]

Topic:- 13_GP_SH1_Set2_B



1)

In the Four-Quadrant format of MQOCs, which of the following facilitates interactions amongst learners
and course coordinators?

1. Videos

2. Assessments

3. Reading material
4, Discussion forum

g 3 S (MoOCs) IR Iqui UreE § g § O sEa et ¢k ueges gnauel ¢ e o
ol @ H §1d1 8 7

1. fafsan

2, gedid
3, UT3d |HUl
4, 9l d9g

[Question ID = 10229][Question Description = 106_0_GP20_SEP22_S2_Q06]
1. 1 [Option ID = 10913]
2. 2 [Option ID = 10914]
3. 3 [Option ID = 10915]
4. 4 [Option ID = 10916]

2)
Which of the following is & graphical tool for organising and reprezenting knowledge?

1. Concept maps
2, Lesson plan

3, Summary

4, Diagram

T @] Wiied 3R Uda B & [og FgRkiigd o § &4 0F 916y Sa & 7

1. O g
2, GI&-aiaT
3,91

4, 3NE-faA

[Question ID = 10230][Question Description = 107_0_GP20_SEP22_S2_Q07]
1. 1 [Option ID = 10917]
2. 2 [Option ID = 10918]
3. 3 [Option ID = 10919]
4. 4 [Option ID = 10920]

3)
Which of the following is a learner-centered method?

1. Inquiry approach

2, Lecture method

3, Demonstration method
4, Team teaching



aftfed 5 4 o e el dta usf s ?
1. 9g=a] Ul

2, R UEid
3, Freg ugld
4, F1H-3Egq

[Question ID = 10231][Question Description = 108_0_GP20_SEP22_S2_Q08]
1. 1 [Option ID = 10921]
2. 2 [Option ID = 10922]
3. 3 [Option ID = 10923]
4. 4 [Option ID = 10924]

4)
A teacher can have a satisfying teaching profession when s/he

1.is more gualified than his/ her colleagues.
2, isclose to higher authorities,

3, has good control over the students,

4, commands respect from the students,

T oreTs &1 &9 UF G=<I9UG S/ Sgdd &l 9%l &, 416 98-

1, 35 GEHHal 4 P Seawra &l
2, 3= APl @ AP ol

3, Tl OX s3] Haa @ayagoi ol |
4, A 4 99 - U 8l

[Question ID = 10232][Question Description = 109_0_GP20_SEP22_S2_Q09]
1. 1 [Option ID = 10925]
2. 2 [Option ID = 10926]
3. 3 [Option ID = 10927]
4. 4 [Option ID = 10928]

5)
Which of the following scales of measurement isssynonymous to ranking or grading?

1. Neminal scale
2, Ordinal scale

3. Interval Scale
4, Ratio Scale

FgfaRag § € 9195 &1 ® 19 91 U9 SHaSd 91 Suiaadl &1 99 & 7

1. 5@ THET
2. PHYE® GaH]
3. BRI OHAT
4, 391 981

[Question ID = 10233][Question Description = 110_0_GP20_SEP22_S2_Q10]
1. 1 [Option ID = 10929]
2. 2 [Option ID = 10930]
3. 3 [Option ID = 10931]
4. 4 [Option ID = 10932]



6)
Population census can be an example of

1. Historical Study

2, Case Study

3, Longitudinal Study
4, Experimental Study

ST REfEd 5 § f5ue U goee ol 9edi & 7

1. Ufoeiia® siega
2, U] (bd) HETA
3. 3Ffa S

4, JTaTe Heaa

[Question ID = 10234][Question Description = 111_0_GP20_SEP22_S2_Q11]
1. 1 [Option ID = 10933]
2. 2 [Option ID = 10934]
3. 3 [Option ID = 10935]
4. 4 [Option ID = 10936]

7)
An analysis of the subject’s life for meaning has the focus of

1. Structuralism

2, Pragmatism

3. Sociology

4, Phenemenology

374l B 37T 3l (Hedlde) & Sig & [oRauy H gfeied # 4 feus Bieu s g 7

1. BLg919E
2, dgTpaag
3, GHTANGE
4, TEOHEANasH

[Question ID = 10235][Question Description = 112_0_GP20_SEP22_S2_Q12]
1. 1 [Option ID = 10937]
2. 2 [Option ID = 10938]
3. 3 [Option ID = 10939]
4. 4 [Option ID = 10940]



8)
Which of the following are the characteristics of case study research?

A, Itis simulated in a laboratory.

B, It is particularistic.

C. It is descriptive.

D. It-is inductive.

E it is disruptive.

Choose the correct answer from the options given below,

1.4, Band C only
2.B, Cand D only
3. C, D'and Eanly
4.4 BandEanly

fFrafaRas 5§ T s 2Ty I oiF 4 [HRpa & 7
A, T8 TR e 0d sl gl

B. % [aRIPdIR® &

C. U8 gUie &

D. g HFTHATHD 8

E. 0% fawie® &

e e e fasedl 5 § 981 SR 9 ;

1.3a0A, B AR C
2, ®aAE, C 3R D
3, &aEC, DARE
4, FaAABARE

[Question ID = 10236][Question Description = 113_0_GP20_SEP22_S2_Q13]
1. 1 [Option ID = 10941]
2. 2 [Option ID = 10942]
3. 3 [Option ID = 10943]
4. 4 [Option ID = 10944]



9)
Which of the following are included in a research article?

A, Introduction

B, Data

C. Data analysis and results

D. Foreward

E. Letter ef recommendation

Choose the correct answer from the options given below;

1.4, Band C only
2.B, Cand D only
3. C, D'and Eanly
4.4 BandEanly

1Y e H FEitREd § 4 -0 SHiap eid § 7
A HFEST

B. BT

C. STeT fa=ey 3R uRoms

D. HIgRiH

E. SR OA
I e e ol § G 98 ST -

1.3a0A, B AR C
2, ®aAE, C 3R D
3, &aEC, DARE
4, FaAABARE

[Question ID = 10237][Question Description = 114_0_GP20_SEP22_S2_Q14]
1. 1 [Option ID = 10945]
2. 2 [Option ID = 10946]
3. 3 [Option ID = 10947]
4. 4[Option ID = 10948]

10)
Given below are two statements

Statement |: Exploratory research is conducted for data indications,
Statement II: The goal of exploratory research is to gather final data to find out causality,
In light of the above statements, thoose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [ is true



fegeERumE.
BY - | ; TANUHES 1Y STEl YIH] & 1908 ST S e

DY - || ; TIEONEE Y BT T3 BRI B 56 & (08 HfoH 3121 Ted B3] 5
Sulad Y & Hdie 4 FRfead Gl 3 9§ Uel 3 94 -

1. 54T | AR |1 §F T &

2, @Y | R 1 G 2T |

3. 7Y 1 T ¢, g @y 11 3T B
4 By | A B, g @ 1 T Bl

[Question ID = 10238][Question Description = 115_0_GP20_SEP22_S2_Q15]
1. 1 [Option ID = 10949]
2. 2 [Option ID = 10950]
3. 3 [Option ID = 10951]
4. 4 [Option ID = 10952]

11)
The phenomenological interpretation in communication involves

1. Collective experience
2. Secondary experience
3. Personal experience
4, Indirect experience

THINY F Sy saRe i J § fege] gisied sl s 2

1. ¥R ® HHT
PRI CC]
3. il orr@
4, yAE 3HT

[Question ID = 10239][Question Description = 116_0_GP20_SEP22_S2_Q16]
1. 1 [Option ID = 10953]
2. 2 [Option ID = 10954]
3. 3 [Option ID = 10955]
4. 4 [Option ID = 10956]

12)
In communication, the test:of parsimony will have the element of

1. Logical simplicity

2. Complex validity

3. Susceptible generalisability
4, Abstraction



w5, Baefar & wig 3 39T o anae s

1, Ao Teaal

2, Sfed auar

3, H1g-Hau] HEFISI
4, FRIET

[Question ID = 10240][Question Description = 117_0_GP20_SEP22_S2_Q17]
1. 1 [Option ID = 10957]
2. 2 [Option ID = 10958]
3. 3 [Option ID = 10959]
4. 4[Option ID = 10960]

13)
Which of the following are the key features of linear model of communication?

A, One-way communication

B. Manipulated feedback

C. Absence of noise

D. Used for mass communication

E. Sender-centric communication

Choose the correct answer fram the options given below;

1.4, Band Conly
2.8, Cand D only
3.D, Cand E only
4 A DandEonly

Pt & 9 o O 9iu S w6 Aisd &1 g [Fgwan g ¢
A TH-AFIT GEmo

B, BF-giferd Uiag®

C. IR @ HuRf

D. W-YUSY 5d Wd g4 aral

e e e fasedl 5 § 981 SR 9 ;

1.3a0A, B AR C
2, ®aAE, C 3R D
3, $aE D, CARE
4, FHaAA DIARE

[Question ID = 10241][Question Description = 118_0_GP20_SEP22_S2_Q18]
1. 1 [Option ID = 10961]
2. 2 [Option ID = 10962]
3. 3 [Option ID = 10963]
4. 4[Option ID = 10964]



14)
Given below are two statements

Statement I: Non-verbal signals are used to emphasize and support the verbal communication,
Statement II: Non-verbal signals are not a substitute for verbal communication,
In light of the above statements, thoose the correct answer from the options given below

. Both Statemient | and Statement Il are true
. Both Statement | and Statement Il are false
. Statement | is true but Statement Il is-false
. Statement | is false but Statement [l is true

J5 WM =

FYF - | ; R Shas (Fwe) Aead TANT I g0 o 3K 390 gadT sq Uga ed o

DY - || : R-Tlea® doasd Allese TR od D13 HI0US T8l o
Iuad ®YH| & HdiD 3 FHHiead [l H 8 el 3ud 94 -

1.9 1 3R 11 GH S g |
2. FYF | AR 1 GHF FF 8
3. 041 9l &, food Y || ST B
4B | SEE B, g o 1 T Bl

[Question ID = 10242][Question Description = 119_0_GP20_SEP22_52_Q19]
1. 1 [Option ID = 10965]
2. 2 [Option ID = 10966]
3. 3 [Option ID = 10967]
4. 4 [Option ID = 10968]

15)
Match List | with List 11
List 1 List Il
Discipline Focus of Communication Process

A, Anthropelogy |I. Metivation

B. Sociology Il. System

C. Psychology'  |lIl. Culture

D. Management |[IV. Society

Choese the correct answer from the options given belaw:

T.A-ILB=H,C=IV, B=|
ZA-NLBE-IV,C-1, D=1
BA-LB-IL,E= LBV
4A-IMB-LC-1,B=-1



Tl - @ G -1 | gAfd B ;

T - Tl -l

&g LU Uihal @1 &3 f6g
A, AFG fagH 1. SRR

B, GHMERIE II. Tl

C. FHIfaTH i, Sl

0. JeET IV, gHTS

+rd fau e famenl o U ug SR gHT:

T.A-ILB=ILC=IV, D=
ZA-NLB-IV,C-1, D=1l
BA-LB-1LE=L D=V
4A-IV,B-LC-1L,D=M

[Question ID = 10243][Question Description = 120_0_GP20_SEP22_S2_Q20]
1. 1 [Option ID = 10969]
2. 2 [Option ID = 10970]
3. 3 [Option ID = 10971]
4. 4 [Option ID = 10972]

16)
if ‘BEAUTIFUL is coded as "ADZTSHETK' in some coding scheme, then how will 'HANDSOME' be codad in
the same scheme?

.GBMETOLD
. GZMCRNLD
JZMCRPNF
IBMCTPNF

da W =

4§ 'BEAUTIFUL' I fovdil iyl gia-l H ‘ADZTSHETK @ ®U H deds jadl oidl & ol 34! aieHr §
'HANDSOME ] (&% tig Deas [Hal S ?

.GBMETOLD
.GZMCRNLD
JZMCRPNF
JBMCTPNF

B S 5 T 0 T

[Question ID = 10244][Question Description = 121_0_GP20_SEP22_S2_Q21]
1. 1 [Option ID = 10973]
2. 2 [Option ID = 10974]
3. 3 [Option ID = 10975]
4. 4[Option ID = 10976]

17)
The average of prime numbers between 1 and 20 is:

1.9.525
2.8.625
3.9.625
4.8525



131X 20 $ &ig Tod GoA1a{ @1 A6d a0 g 2

1.9.525
2,.B.625
3.8.625
4,8,525

[Question ID = 10245][Question Description = 122_0_GP20_SEP22_S2_Q22]
1. 1 [Option ID = 10977]
2. 2 [Option ID = 10978]
3. 3 [Option ID = 10979]
4. 4 [Option ID = 10980]

18)
if the selling price of 10 articles is equal to the cost price of 15 articles, what is the profit percentage?
1.50
2,40
3.45

4.33.35

% 10 TG 1 96T g 15 Tl & OFTe Ied & sl g o o s & g 2

1..50
2,40
3,45
4 3333

[Question ID = 10246][Question Description = 123_0_GP20_SEP22_S2_Q23]
1. 1 [Option ID = 10981]
2. 2 [Option ID = 10982]
3. 3 [Option ID = 10983]
4. 4 [Option ID = 10984]

19)
A certain sum of money en a certain annual rate of interest becomes T1008 in 2 years and 1164 in 3%

years. Find the sum and the annual rate of interest.

1.3 800, 12%
2:3875, 125%
3.3 850, 12%
4.3 800, 13%

q&:’ﬁ'{f%ﬁWﬁ!ﬂﬁﬁ@ﬁﬁﬁﬂimﬁmzﬁﬁmoswﬂigéaﬁﬁﬁm % 51 I & | T TR 3R
aiftie oa7e &3 adigy ? )

1.800 %, 12%
2,875 %, 12.5%
3.850% 12%
4.800 %, 13%

[Question ID = 10247][Question Description = 124_0_GP20_SEP22_S2_Q24]



1 [Option ID = 10985]
2 [Option ID = 10986]
3 [Option ID = 10987]
4 [Option ID = 10988]

A wnN =

20)
Find the next term in the series given below

4,16, 8, 64, 12, 256, 16, 1024, 20,7

1.4096
2.24
3.320
4,4100

Fra g1 73 Ioft #f e gg SR ¢
4 16, 8, 64, 12, 256, 16, 1024, 20,7

71,4096
2,24
3,320
4,4700

[Question ID = 10248][Question Description = 125_0_GP20_SEP22_S2_Q25]
1. 1 [Option ID = 10989]
2. 2 [Option ID = 10990]
3. 3 [Option ID = 10991]
4. 4 [Option ID = 10992]

21)
if the statement, "All human beings are mortal’ is given as true, which of the following can be inferred

from it to be true?

.Some human beings are mortal.
. No mortals are non-human beings.
. Some non-mortals are human beings.

da W =

. Some non-human beings are not mortal.

oig oy - GHI AFG A% § @ O & w4 H (641 7™l & df HEdRad 3 § [Gaal 9 & w4 5 A9 T
SEHAIE 7

1. 9% HHG A5 ol

2. @15 Hl TR I-FHa 5l 8l
3,8 HPRAFG G

4,98 IR-OHT A% T8l 81

[Question ID = 10249][Question Description = 126_0_GP20_SEP22_S2_Q26]
1. 1 [Option ID = 10993]
2. 2 [Option ID = 10994]
3. 3 [Option ID = 10995]
4. 4 [Option ID = 10996]



22)
Match List | with List 11

List 1 List 1l

OBVERTEND OBVERSE

A AllSIsP . Seme S is nen-P
B.NeSisP Il. No S is non-P
C.SomeSisP Il All S is non-P
D.Some Sisnot P |IV. Some S is not non-P

Choase the correct answer from the options given belaw:

T.A-LB-NILE-IV,D-1
2ZA-ILB=ILC=1,D- 1V
LA-ILB=ILC=IV, B=]
4A-ILB-1LC-IV, D~

il -1 @l ! -1l H AT By ;

CE T -1l

BIGEGEAGEE] BISER]

A Gl s PRl |, 5@ S TR-P &I

B.@E s PR BI . B&E W s T 2
C.PBS, PRI It s R-P g

D. %W S, P6l ol V. $E S TR-P &l gl
I fGu e foeeal H ¥ wEl o giHe:

T.A-LB-HLE-IV,D-1
ZA-ILB=-HLE=LD-IV
SA-ILB-ILC=INV, B=]
4 A-ILB-ILC-IV, D=

[Question ID = 10250][Question Description = 127_0_GP20_SEP22_S2_Q27]
1. 1 [Option ID = 10997]
2. 2 [Option ID = 10998]
3. 3 [Option ID = 10999]
4. 4 [Option ID = 11000]

23)
Which logical informal fallacy is committed in the following argument?

"The maths teacher said that there was to be no talking during the test. So it is fair that Chandni had
peints deducted for asking to go to the washroom because she felt sick”,

1. Appeal to force

2, Appeal to emuotion
3, Appeal to authority
4, Fallacy of acaident



Fafatas gfdd & @81 sAee ao-a/y f&Gal 741 § < Th & Rig® 3 @l & 9Wia & aRE 35
AT el @ e | 3o g8 3 § 9 dER 98EE o W die gR UiEed 9 & O 084 )
I i gel fgu My

1. 86 ATE

2, 591YE I8
3, WIiEhR A8
4, JUITY g QY

[Question ID = 10251][Question Description = 128_0_GP20_SEP22_S2_Q28]
1. 1 [Option ID = 11001]
2. 2 [Option ID = 11002]
3. 3 [Option ID = 11003]
4. 4 [Option ID = 11004]

24)
Which of the following statements are true regarding Nyaya logic?

A, Inference is from the universal to the particular only.

B. Inference is from the particular to the universal only.

C. Inference is from the particularto the particular only.

D. Inference is from the particular to the particularthrought the universal,
Choose the correct answer from the options given below,

1.D only
2. A anly
3. A and B anly
4.8 and D only

FRleiEs § ¥ &1 $Y= J/d ahud & a1 H Hel 6 7
A, HTAM baa 9 4§ Y aE s 8l

B. A Sad RN G oA @ sl gl

C. HTH hag 939 ¢ 9N a@ el 81

D. 39 399 § 9= & w4 fodi 9% e 8
id e e fasedl @ § 981 3R 9 ;

1. &HEAD
2. FaEA
3, FHaA A AR B
4, FHaA B AR D

[Question ID = 10252][Question Description = 129_0_GP20_SEP22_S2_Q29]
1. 1 [Option ID = 11005]
2. 2 [Option ID = 11006]
3. 3 [Option ID = 11007]
4. 4 [Option ID = 11008]



25)
Which of the following inferences are based on causation according to Nyaya view of inference?

A, Inferring future rain from the dark clouds
B. Inferring past rain from the swift muddy water in the river
C. Inferring cloven hoofs of an animal by its herns

D. When we infer somebody's existence outside of his house since the persor is not concurrently present

in‘his-house
Choose the correct answer from the options given below;

1.4 and C only
2.Cand Donly
3.A and B only
4, B and Conly

3EM & §1 § U Y & SA9R FEEad € 9 619 9 SEF B10-9 R Y8 W SHia
A, ®Icl dieal | H1d] a8i 1 S Sl

B, a1 H godiHl Hias X e ¥ 197 @1 Y] @1 SFIHE @l

c. Torddt o] o =it ol X &1 SHA B

D. 98 5 [l it & IR & 916t SU®1 Aieid ol ®I AJ0H B4 & P Jg sdiod A9 9% 3 Gaga)
Y Y U T8l &

Jrafeu e ol g G oe S ;

1.FaA A HRC
2, FEACARD
3, HAAA FR B
4, FAAB AR C

[Question ID = 10253][Question Description = 130_0_GP20_SEP22_S2_Q30]
1. 1 [Option ID = 11009]
2. 2 [Option ID = 11010]
3. 3 [Option ID = 11011]
4. 4 [Option ID = 11012]

26)
Computers have evolved from the early mainframes to the relatively small smart devices with high

computing power used-today. Which of the following inventions contributed to reduce the physical size

of computers?

1. Vaccum tube

2. Integrated circuits
3. Registers

4, Solid state memory



FIE JRYE B0 J faead 819 8¢ o9 9= URee i aral 31 WIE SUE0 & Y & | Sed
% ifde woR @) veH & Feffaas 4 € 5 aidasr @1 aie & 7

1. 98 =9
2. THIPd IR9Y GRS Wibe)
3, Aoeex

4,319 Haw] Wi (FEs we J49iR)

[Question ID = 10254][Question Description = 131_0_GP20_SEP22_S2_Q31]
1. 1 [Option ID = 11013]
2. 2 [Option ID = 11014]
3. 3 [Option ID = 11015]
4. 4 [Option ID = 11016]

27)
Which of the following are broad functions of an Operating System in computers?

A, Handling of files and folders

B. Converting from high-level language to low-level language
C. Interfacing between user and hardware

D. Helping te run application scftware

Choose the correct answer from the options given below,

1.4, Cand Donly
2.B, Cand D only
3. A and Canly
4 A B CandD

Fugedl A Pafafas & 4 8 3 v=es uu (SR e s A iR wed 7
A BEA AR WIS @ 9HEAT

B. T T YTHT & g TG YIaT | Siewy)

C. JIGd1 d 5Taddx & 99 3eibd

D. FER HiTeagR 9o H Geigd] ol
i fou e fadedi 3§ 4 98l I 9

1. WAAA,C3RD
2, FHaE B, C AR D
3, FAAAARC
448 CIHRD

[Question ID = 10255][Question Description = 132_0_GP20_SEP22_S2_Q32]
1. 1 [Option ID = 11017]
2. 2 [Option ID = 11018]
3. 3 [Option ID = 11019]
4. 4 [Option ID = 11020]



28)
Given below are two statements

Statement I: The contents of most forms of RAM are volatile, thus making them unsuitable for long term

data storage.
Statement II: Hard disk has faster access of data in comparison to RAM as'well as processor registers.
In light of the above statements, thoose the correct answer from the options given belew

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement Il is-false

J5 WM —-

. Statement | is false but Statement [l is true

EIERREAIC AT -
FY - | - AR U TH T ST G P fqde Aue & 3 7 Soiee S YR & [ eguga 8
iG]

DY - 1| HR T TH AR IR el & gorl H ols (5% 31 SI2l o® Ued H4® uid &
ITad BYA & HIE® & FEiead [ahedl 3 4 Ual St g ;

1.0 | 3R 11 G T g

2, @Y1 3R 1 GHl 3EE B

3, @Y1 9d ¢, foo YA 1| A B
4,5y | HA T, g e T Bl

[Question ID = 10256][Question Description = 133_0_GP20_SEP22_S2_Q33]
1. 1 [Option ID = 11021]
2. 2 [Option ID = 11022]
3. 3 [Option ID = 11023]
4. 4 [Option ID = 11024]

29)
Which of the following statements is/are correct?

A, Digital governance has been legalized by the IT Act {2000) in India.

B. IT Act is a watershed in conceptualizing administrative reforms in India,
C. Digital governance is a boon in curbing bureaucratic red-tapism.
Choose the correct answer from the options given below,

1.8 and C only
2.B only

3,A and Conly
4 A Band C



FaftiEd 4 4 o1 4 $y 581 & 7

A, a1 Weifie] SHEHEH, 2000 SR HIRA 5 (Shica e @ [Gfgarg o el ™ el
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1. PAAB AR C
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4, FEAA BHARC

[Question ID = 10257][Question Description = 134_0_GP20_SEP22_S2_Q34]

1. 1 [Option ID = 11025]
2. 2 [Option ID = 11026]
3. 3 [Option ID = 11027]
4. 4 [Option ID = 11028]

30)

Match List | with List 11

List | List Il

Ethical Issue in Information Technology o
Description

|. Responsibility of data collector to ensure

A, Privacy accuracy

Il. Responsibility of data collector to control
B, Accuracy

access
C. Property Ill. Collection and use of data about individuals
0. Accesibility V. Data ownership and Seftware Usage Rights

Choase the correct answer frem the options given below:

T.A-ILB-LE-IV,D-1
ZA-IVB=LE-1,B=
BA-LB-HLE-1L BV
4A-ILB-LE-ILD-IV




Tl - @ G -1 | gAfd B ;
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+rd feu e famedl &4 W S g

T.A-ILBE-LE-IV, D=1l
ZA-INMB-LCE-1LDB=1
BA-LB-HLC-1LD-1V
4A-NB-LC-I,D- IV

[Question ID = 10258][Question Description = 135_0_GP20_SEP22_S2_Q35]
1. 1 [Option ID = 11029]
2. 2 [Option ID = 11030]
3. 3 [Option ID = 11031]
4. 4 [Option ID = 11032]

31)
The substance that slows down the neutrons to have controlled chain reaction during nuclear energy
production is‘called as

. Controller
.Inhibitor
. Moderator

45 WM =

. Reducer

TYSG Fe| S@IG & SR UG SEe uiakea & e g2 o 99 o a1 ge @f FefafEa 4 3
FN eI AT & 7

1. P @Em)
2, HEF (G
3, HE® (HISE)
4, FHPRS (RETHR)

[Question ID = 10259][Question Description = 136_0_GP20_SEP22_S2_Q36]
1. 1 [Option ID = 11033]
2. 2 [Option ID = 11034]
3. 3 [Option ID = 11035]
4. 4 [Option ID = 11036]



32)
Which of the following pollutants is considered as surrogate for eye irritation?

1. Nitrogen dioxide
2. Sulphur dioxide
3, Carbon monoxide
4, Czone

e rgme el A 9o o TR IRFMgeEe e SU A AT S| 6 2

1?@?@?@%&‘@3@
2, TR SEsaaEs
3, HE- GHIGES

4, HFA

[Question ID = 10260][Question Description = 137_0_GP20_SEP22_S2_Q37]
1. 1 [Option ID = 11037]
2. 2 [Option ID = 11038]
3. 3 [Option ID = 11039]
4. 4 [Option ID = 11040]

33)
Given below are two statements

Statement I: Pesticides such as DDT are particularly disruptive to foed chains,
Statement lI: Pesticides are very persistent and soluble in water.
In light of the above statements, choose the most appropriate answer from the options-given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect

3. Statement | is correct but Statement || is incorrect
4, Statement | s incorrect but Statement |l is correct

J el @y QUi g P @ @A (A) 3N g6 & SRYI (R) &8 M6l
HRHEY (A) : 213121, S Plew® (339 B4 4 WY SEa | [Gwcd eid 8l

BN (R) ;: BIEATES AAfE o SR o 3 go-=iie eid &

Iulad BYA! & HdID H FHldd faded! d 9 el IR 94
1. (A) 3R (R) ST H1 & 3R (R), (A) BT WE ARAT T
2.(A) 3R (R) GFI F81 & U (R), (A) B ol oIS e o

3. (A) T8l & IR (R) Tl 981 5
4, (A) HE1 81 & U (R) WRl &

[Question ID = 10261][Question Description = 138_0_GP20_SEP22_S2_Q38]
1. 1 [Option ID = 11041]
2. 2 [Option ID = 11042]
3. 3 [Option ID = 11043]
4. 4 [Option ID = 11044]



34)
Given below are two statements

Statement |: Global warming could lead to increased release of the greenhouse gas, Methane.

Statement lI: There is a large amount of Methane currently frozen in the permafrost in the far northern
regions of the world.

In light of the above statements, thoose the most appropriate ariswer from the opticns given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
. Statement | is correct but Statement |l is incorrect

J5 WM —-

. Statement | is incorrect but Statement || is carrect

T o RUTEE: ol 3ftme () 3R g @1 HRU (R) Tl T &
Y (A) : IS A0 (aiEd aa) ¥ dHersw 719, HidH @1 #fie IweH g 9edl gl
@R (R) : GoAF 5 9% © Yol il &) & = guR HiF 5 #1d9 Y- 7@ 5 o1l 55 o
ST B! & HTED J FHidd [ H 9 g1 I 9 -

1..(A) IR (R) T TE1E 3R (R), (A) P Hel ST B
2.(A) 3R (R) GHT G861 & U3 (R), (A) B Hal oI1aT Ta) o
3. (A) WBl € R (R) Hel el 8|

4, (A) HEI 761 & UG (R) HEI 81

[Question ID = 10262][Question Description = 139_0_GP20_SEP22_S2_Q39]
1. 1 [Option ID = 11045]
2. 2 [Option ID = 11046]
3. 3 [Option ID = 11047]
4. 4 [Option ID = 11048]

35)
Given below are two statements

Statement I: Biodiesel can reduce Sulphur emissions significantly in comparison to gascline,
Statement lI: Energy density of biodiesel is much less than that of ethanol.
In light of the above statements, thoose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement || is-false
4, Statement | is false but Statement [ is true
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[Question ID = 10263][Question Description = 140_0_GP20_SEP22_S2_Q40]
1. 1 [Option ID = 11049]
2. 2 [Option ID = 11050]
3. 3 [Option ID = 11051]
4. 4 [Option ID = 11052]

36)
The National Education Policy, 2020 envisages that all higher education institutions will be incentivized,

supported and mentored and shall aim to become autonomous; and have an empowered Board of

Governors by the year

1,2025
2,2030
3,2035
42040

P TRiE i 2020 @1 GUR © T Wl S e SR 9 e, §AUE SR e s e
e, R d Ol W &4 @1 989 Wi, AR FofofEs od 9 te g ol 918 @ eieh) @ Ted
Gaaf

B S o T LN T

[Question ID = 10264][Question Description = 141_0_GP20_SEP22_S2_Q41]
1. 1 [Option ID = 11053]
2. 2 [Option ID = 11054]
3. 3 [Option ID = 11055]
4. 4 [Option ID = 11056]

37)
Who among the following was the Chairperson of the Committe setup by the National Council for

Women Education in 1962 to examine the differentitation of curriculum for boys-and girls at all stages of

education?

1. Bhaktavaisalam

2, Hansa Mehta

3. Durgabai Deshmukh
4, Margaret Cousins



Prafea & 9 i wfeen fe oftws &r1 1962 3 Fges @1 718 98 9T 1 s o o, B Ria e
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1. HaddedcH
2. garged

3. 57111 orEE
4, AT Bfeg

[Question ID = 10265][Question Description = 142_0_GP20_SEP22_S2_Q42]
1. 1 [Option ID = 11057]
2. 2 [Option ID = 11058]
3. 3 [Option ID = 11059]
4. 4 [Option ID = 11060]

38)
The expenditure on the research and innovation in India, at present, isonly % of GDP.

1..0.20%
2.0.69%
3.131%
4,.274%

oA o URd & HHYH AR F99R W aH 910 o e g sdG @1 aF_ uSa gl

1.0.20%
2,0.69%
3.131%
4,2.714%

[Question ID = 10266][Question Description = 143_0_GP20_SEP22_S2_Q43]
1. 1 [Option ID = 11061]
2. 2 [Option ID = 11062]
3. 3 [Option ID = 11063]
4. 4 [Option ID = 11064]

39)
Given below are two statements

Statement I: To address inter-state variations at all levels of Educatien, it was brought on to the

Concurrent list in the Constitution in 1976,
Statement II: The institutions approved under State Legislative Act are not empowered to award degrees.
In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is-false
4, Statement | is false but Statement [l is true
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[Question ID = 10267][Question Description = 144_0_GP20_SEP22_S2_Q44]
1. 1 [Option ID = 11065]
2. 2 [Option ID = 11066]
3. 3 [Option ID = 11067]
4. 4 [Option ID = 11068]

40)
Match List | with List 11

List 1 List 1l

Educational Agencies (Acronyms) Educational Domains
A, NIOS I. Teacher Education

B, NCTE Il. Technical Education
C. AICTE Ill. Vocational Education
D. NCVET IV. Distance Education

Choase the correct answer frem the options given below:

T.A-IM,B=L,C-1LB=N
Zoh =B E= LB Y
BRA-IB=ULC=IV, B=]
4A-ILBE-MC-LD-1

T - @ G -1 W A B ;

CE Il

A, TF.3005 31 00, | 3SZTa FREm

B EAHAS. I1. THTD] &1
C.URAIEs. (11, ST fRiam
D EAAIA IV, Gy e

4 fgu e fawedl # ¥ 9d S ghu:

T.A-IMB=-LC-1LB=
ZA-LB-1LE=L D=V
LA-ILB-ILC=IV, B=]
4 A-ILB-IV,C-1,D-1l

[Question ID = 10268][Question Description = 145_0_GP20_SEP22_S2_Q45]



A wnN =

1 [Option ID = 11069]
2 [Option ID = 11070]
3 [Option ID = 11071]
4 [Option ID = 11072]

Topic:- 13_GP_SH1_Set2_C

1) Scholars refer to the western perception of Third Werld societies. They discuss the same when raising the

guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third World are represented in micst feminist literature
on development as having ' needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories: It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which te measure the situation of Third Werld women,

The result is'paternalistic attitude on the part of western waomen toward their Third Werld counterparts, It is
perpetuation of the hegemonic idea of west's superiority. It is in this process of homogenisation and
systematisation of the oppression of women in the Third Werld, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of

interpretation.
The Western feminist literature depicts Third World women as having

1. Fewer choices and no freedom

2. Greater support fromy external influences
3, Benefits of modernisation

4, Become amenable to western influence

o S didl giHa1 & 9HSi & OS] Ue @ 3R Yod $ed 61 WE d U8 UY J8N § [ aredl -l @
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[Question ID = 10269][Question Description = 146_0_GP20_SEP22_S2_Q46]

1.

1 [Option ID = 11073]

2. 2 [Option ID = 11074]
3. 3 [Option ID = 11075]



4. 4 [Option ID = 11076]

2) Scholars refer to-the western perception of Third Werld societies. They discuss the same when raising the

guestions of who produces knowledge about Third World women.

An Indian scholar has discovered that women in the Third World are represented in micst feminist literature
on development as having ' needs’ and 'problems’ but few choices and ne freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It s said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domaestic, family oriented and victimised. This is in contrast to the self-representation of wastern women as
educated, modern with freedom to make their own decisions. These representations -assume western
standards as the benchmark against which ta measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third World counterparts. ttis
perpetuation of the hegemonic idea of west's superiornity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of

interpretation.
The Third World wemen have an image constructed through the parameters of

1. Compassionate representation

2. Quantification and categorisation
3. Geographical proximation

4. Familial issues

fagm o3 T8 g1 & TarSil & afE e &1 R Udd $d ol WE d U8 UY I8N § [ o gl &
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[Question ID = 10270][Question Description = 147_0_GP20_SEP22_S2_Q47]
1. 1 [Option ID = 11077]
2. 2 [Option ID = 11078]
3. 3 [Option ID = 11079]
4. 4 [Option ID = 11080]




3) Scholars refer to-the western perception of Third Werld societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third Werld are represented in most feminist literature
on development as having ' needs’ and 'problems’ but few choices and ne freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which to measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third Werld counterparts. It is
perpetuation of the hegemonic idea of west's supericrity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs io be redefined, because of its subjective nature of
interpretation.

The western women cansider themsealves as

1. Savicurs of oppressed women

2. Agents of homogenisation

3. Modem and free

4, Equally exploited like Third World women

faem 5 T g & TEel & UigHl T #1 3R U9 &3 6| 919 d 98 UY 961 © 1 aresl gl @l
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[Question ID = 10271][Question Description = 148_0_GP20_SEP22_S2_Q48]
1. 1 [Option ID = 11081]
2. 2 [Option ID = 11082]
3. 3 [Option ID = 11083]
4. 4[Option ID = 11084]



4) Scholars refer 1o the western perception of Third World societies. They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women in the Third Werld are represented in most feminist literature
on development as having ' needs’ and 'problems’ but few choices and ne freedom to act. What emerges
from such modes of analysis is the image of an average Third World woman constructed through the use of
statistics and certain categories. It is said that an average Third World woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which to measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third Werld counterparts. It is
perpetuation of the hegemonic idea of west's supericrity. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs io be redefined, because of its subjective nature of
interpretation.

The western feminist literature looks at Third World women with

1. In-depth knowledge of their issues
2.An urge ta liberate them

3. The need 1o enforce universal values
4, Western standards as real benchmarks

g o9 digd g1 & a9 & Uil Uesn #) 3R Had old 81 99 d 98 UY 351 & [ ared g1 &1
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[Question ID = 10272][Question Description = 149_0_GP20_SEP22_S2_Q49]
1. 1 [Option ID = 11085]
2. 2 [Option ID = 11086]
3. 3 [Option ID = 11087]
4. 4 [Option ID = 11088]




5) Scholars refer to the western perception of Third Werld societies, They discuss the same when raising the
guestions of who produces knowledge about Third World women,

An Indian scholar has discovered that women ini the Third World are represented in most feminist literature
on development as having * needs’ and 'problems’ but few choices and no freedom to act. What emerges
from such modes ef analysis is the image of an average Third World woman censtructed through the use of
statistics and ceitain categories: It is said that an average Third Werld woman leads an, essentially truncated
life based on her feminine gender and her being ‘third world' - ignorant, peor, uneducated, tradition bound,
domestic, family oriented and victimised. This is in contrast to the self-representation of western women as
educated, modern with freedom to make their own decisions. These representations assume western
standards as the benchmark against which to measure the situation of Third World wemen,

The result is*paternalistic attitude on the part of western women toward their Third World counterparts, It is
perpetuation ef the hegemonic idea of west's supeniority. It is in this process of homogenisation and
systematisation of the oppression of women in the Third World, that power is excercised in much of the
western feminist discourse. This power needs to be redefined, because of its subjective nature of
interpretation.

The passage Is critical of

1, The submissive Third Warld women

2. Maodernised western women

3, Hegemonic ideas of western superiority
4, Homogenisation of feminist discourse
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